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Question Id : 87827029557 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)

Question Label : Comprehension

The following table shows the percentage (%) distribution of six different types of expenditure,
namely, Salary (), Infrastructure (I), Transportation (T), Bonus (BO), Raw Material (R) and
Miscellaneous (M) of three companies A, B and C during a given year. Total expenditure of

company A, B and C are 3 80 lakh, T 90 lakh and ¥ 75 lakh, respectively. Based on the data in the
table, answer the questions that follow :

Company-wise percentage (%) distribution of Expenditure

Type of Expenditure
—
Gt l 5 I i BO | R M
A 4% | 18% | 15% | 10% | 14% | 19%
B 27% | 15% | 14% | 25% | 9% | 10%
0 2% | 24% | 16% | 19% | 8% | 12%




Sub questions

Question Number : 1 Question Id : 87827029558 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What is the difference between the expenditure of Company-A on salary and the expenditure of
Company-B on Raw Material ?

(1) 9.6 lakh

2) T1L1 lakh
) ¥124 lakh
)

3
4) T 134 lakh

(
(
(
Options :

878270116441. 1
878270116442. 2
878270116443.3

878270116444. 4

Question Number : 2 Question Id : 87827029559 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

The expenditure of Company C on salary is approximately % of the expenditure of
Company A on Transportation.

(1) 76.2%

(2) 96%

(3) 125%

(4) 131%

Options:

878270116445. 1
878270116446. 2
878270116447. 3
878270116448. 4



Question Number : 3 Question Id : 87827029560 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What 1is the average expﬂncliture of the three companies on Infrastructure ?
(1) 122 lakh

(2) T 15.3 lakh

(3) T 164 lakh

(4) T 175 lakh

Options :

878270116449. 1

878270116450. 2

878270116451. 3

878270116452. 4

Question Number : 4 Question Id : 87827029561 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What is the ratio of the expenditute of Company A on Infrastructure to the expenditure of
Company B on Transportation ?
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Options :

878270116453. 1
878270116454. 2
878270116455. 3

878270116456. 4



Question Number : 5 Question Id : 87827029562 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

The ex pendilure of Companv Con Infrastructure 1s
of Company A on Bonus.

% more or less than the expundilure

(1) 80
(2) 100
(3) 125
(4) 150
Options :

878270116457. 1
878270116458. 2
878270116459. 3

878270116460. 4

Question Id : 87827029557 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (1 to 5)

Question Label : Comprehension
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A W% | 18% | 15% | 10% | 1% | 19%
B 7% | 15% | % | 5% | 9% | 10%
C 0% | 4% | 16% | 19% | 8% | 12%

Sub questions

Question Number : 1 Question Id : 87827029558 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

FIH-A F A7 T G AR FUA-B % F= HIel W A & 9rg T S €2

(1) 9.6 @E &R

2) 111 7@E TH

(3) 124 7@ T

(4) 134 7@ T
Options :

878270116441. 1
878270116442. 2
878270116443. 3

878270116444. 4

Question Number : 2 Question Id : 87827029559 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

UAI-C I ot T FY HUA-A F GEed T e %%
(1) 76.2%
(2) 96%
(3) 125%
4) 131%
Options :

878270116445. 1
878270116446. 2
878270116447. 3

878270116448. 4

Question Number : 3 Question Id : 87827029560 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

=1 safTal 1 e 9 SiHd =@ faaa € 2

(1) 122 /@ ¥9

(2) 15.3 @R T

(3) 16.4 @ T9

(4) 175 @E ¥
Options :

878270116449. 1
878270116450. 2
878270116451. 3
878270116452. 4

Question Number : 4 Question Id : 87827029561 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

FOA Ak STIGTET W SE 3R FA B & ufEed W S &1 S foha § 7

(1) 5:4
2) 6:5
3) 7:6
4 8:7

Options :

878270116453. 1
878270116454. 2
878270116455. 3
878270116456. 4

Question Number : 5 Question Id : 87827029562 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
HA C ] ST T FA A F G T AT § % 1feeh 71 F9 ¢ 7
(1) 80
(2
(3) 125
(4)
Options:
878270116457. 1
878270116458. 2
878270116459. 3

878270116460. 4

Sub-Section Number : 2
Sub-Section Id : 8782701270
Question Shuffling Allowed : Yes

Is Section Default? : null



Question Number : 6 Question Id : 87827029563 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement (I) : Swayamprabha courses are broadcasted on TV.
Statement (II) : Moocs are only available in English.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement I are correct

2)  Both Statement I and Statement Il are incorrect

4)  Statement I 1s mcorrect but Statement Il is correct

2

(3) Statement I is correct but Statement II is incorrect
g

Options :

878270116461. 1

878270116462. 2

878270116463. 3

878270116464. 4

Question Number : 6 Question Id : 87827029563 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270116461. 1
878270116462. 2
878270116463. 3

878270116464. 4

Question Number : 7 Question Id : 87827029564 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - 1 List - 11
(Types of Evaluation) (Their Functions)
(A) Placement Evaluation () To monitor the learning progress of students during the

course of instructions

(B) Formative Evaluation (I)  To know the underlying cause of weaknesses in students’
learning

(C) Summative Evaluation ~ (II) To know entry behaviour

(D) Diagnostic Evaluation (IV) To certify the learner at the end of a course or an academic
year or programme

Choose the correct answer from the options given below :

(1) (A, B)-(H), 1), D-1V)

(@) (AR, (B}(I), (CH(Im), (D)-(IV)
() (AHLV), (BI1), (CH{I), (DA
(4) (AR, (BH1), (CH(1V), (DK()



Options :

878270116465. 1
878270116466. 2
878270116467. 3
878270116468. 4

Question Number : 7 Question Id : 87827029564 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(1) (AHI), (B}, (C-(0), (DHIV)
(@) (AHI), (B)-(I), (CHII), (D)-IV)
() (AHIV), (B){L), (CHIL), (DHII)
(4)  (A){I), (B)-(0), (C-(IV), (D}
Options:

878270116465. 1
878270116466. 2
878270116467. 3

878270116468. 4

Question Number : 8 Question Id : 87827029565 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Research suggests that a majority of students cheat at some points in their academic career, Which
one of the following is not a recommendation to reduce cheating in the classroom ?

(I) Encourage collaboration with peers on assignments to provide necessary support and decrease
anxiety.

(2) Reduce the focus on grades, and provide the material for students with which they must be
familiar.

(3) Clear guidelines on what constitutes cheating accompanied by consequences that, when
imposed, will deter other students due to their severity.

(4)  Ensure students are well prepared for assignments and tests.
Options :

878270116469. 1

878270116470. 2

878270116471. 3

878270116472. 4

Question Number : 8 Question Id : 87827029565 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270116469. 1

878270116470. 2



878270116471. 3
878270116472. 4

Question Number : 9 Question Id : 87827029566 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
Given below are two statements :

Statement (I) :  Adolescents tend to be highly seli-aware and have a clear sense of their identity.

Statement (II) : Adolescents tend to develop ability to see relationships and to solve problems of
increasing complexity and difficulty.

In the light of the above statements, choose the most appropriate answer from the options given

below :

(1) Both Statement I and Statement I are correct

2)  Both Statement I and Statement II are incorrect
) Statement I is correct but Statement Il is incorrect

(
(3
(4)  Statement I is incorrect but Statement I is correct
Options :

878270116473. 1

878270116474. 2

878270116475. 3

878270116476. 4

Question Number : 9 Question Id : 87827029566 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270116473. 1

878270116474. 2

878270116475. 3

878270116476. 4

Question Number : 10 Question Id : 87827029567 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following is a basic requirement for effective teaching ?
(1) Ignoring individual differences among students
(2) Adequate resources and technology

(3) Use of traditional teaching methods

(4) Rigid adherence to curriculum guidelines
Options :

878270116477. 1

878270116478. 2

878270116479. 3

878270116480. 4

Question Number : 10 Question Id : 87827029567 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270116477. 1
878270116478. 2
878270116479. 3

878270116480. 4

Question Number : 11 Question Id : 87827029568 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

If you want to understand the theoretical reasons that led researchers to conduct a study, you
would read which section of their article ?

(1) Abstract

(2) Introduction

(3) Discussion

(4)  Methodology

Options:

878270116481. 1

878270116482. 2

878270116483. 3

878270116484. 4

Question Number : 11 Question Id : 87827029568 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
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Options :

878270116481. 1
878270116482. 2
878270116483. 3

878270116484. 4

Question Number : 12 Question Id : 87827029569 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

The tendency of researchers to subtly and inadvertently affect the behaviours of participants in a
study, obscuring the true effect of the independent variable, refers to :
(1) Hawthorne Effect

(2)  Biosocial Effect
(3)  Experimental Bias
(4) Participant Bias

Options:

878270116485. 1
878270116486. 2
878270116487. 3

878270116488. 4



Question Number : 12 Question Id : 87827029569 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270116485. 1
878270116486. 2
878270116487.3

878270116488. 4

Question Number : 13 Question Id : 87827029570 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

A research design in which either the investigator or the participant is not aware of the treatment
a parﬁcipanl 15 1'eceivmg, refers to :

(I) Single Blind Study

(2)  Half Blind Study

(3) Double Blind Study

(4) Longitudinal Study

Options :

878270116489. 1

878270116490. 2

878270116491. 3

878270116492. 4



Question Number : 13 Question Id : 87827029570 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270116489. 1
878270116490. 2
878270116491. 3

878270116492. 4

Question Number : 14 Question Id : 87827029571 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In a positively skewed distribution, which among the following would be true ?
(A) Mean > Mode
B) Mode > Median
) Mean > Median
D) Mode > Mean
E) Median > Mean

Choose the correct answer from the Dptiuns given below :

(
(
(
(

(1) (B) and (D) Only
(2) (A)and (C) Only
(3) (A)and (B) Only
(4) (D) and (E) Only



Options :

878270116493. 1
878270116494. 2
878270116495. 3

878270116496. 4

Question Number : 14 Question Id : 87827029571 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
eTeeh farom faavo o, ffafad § 9 sH-91 9€1 8 ?
(A) WA > Sgaish
(B) WETTH > HifEAHI
(C) A > Hifegh
(D) dgeish > HIEA
(E) Wfeeht > W&
= Teu 7T forredi § | W& AT 1 A Hifel:
(1) %A (B) 3R (D)

() FE (A) R (O)

(3) A (A) SR (B)

(4) = (D) ¥R (E)

Options:

878270116493. 1

878270116494. 2

878270116495. 3

878270116496. 4

Question Number : 15 Question Id : 87827029572 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

A researcher computes sample correlation coefficients r;, 1, r; and 1, from four different samples
and obtains 0.97, 0.95, 0.10 and 0.03, respectively, as their p-values, The correlation coefficient
significant at 5% level is :

0

@ 1
B 1
(4) Iy
Options :

878270116497. 1
878270116498. 2
878270116499. 3

878270116500. 4

Question Number : 15 Question Id : 87827029572 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
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Options :

878270116497. 1
878270116498. 2
878270116499. 3

878270116500. 4

Question Number : 16 Question Id : 87827029573 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

When individuals post journal-like entries on the Internet, they are known as :
(1) Advisory Columns

(2) Net Opinions
(3) Weblogs

(4) Digital Stories
Options :

878270116501. 1
878270116502. 2
878270116503. 3

878270116504. 4

Question Number : 16 Question Id : 87827029573 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270116501. 1
878270116502. 2
878270116503. 3

878270116504. 4

Question Number : 17 Question Id : 87827029574 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

An implicit message within a message is technically referred to as:
(1) Hidden Message

(2) Intrinsic Message

(3) Non-expressive Message

(4) Sub-text

Options :

878270116505. 1

878270116506. 2

878270116507. 3

878270116508. 4

Question Number : 17 Question Id : 87827029574 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
Tt aw # erafifed Hew =1 aeial gfte @ Fe o1
(1) 3T (Y=91) Ha¥l

(2) SF<IYd H
(3) STAfYESTe Hewr
(4) Y-S

Options :

878270116505. 1
878270116506. 2
878270116507. 3

878270116508. 4

Question Number : 18 Question Id : 87827029575 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following constitute the selectivity process in mass communication ?
(A) Selective suppression

(B) Selective attention

(C) Selective perception

(D) Selective retention

(E) Selective ignorance

Choose the correct answer from the options given below :
(1) (A), (B) and (C) Only

) () () and (D) Only

(3) (©), (D) and (E) Only

@) (A), (D) and (E) Only

Options:

8782701165009. 1

878270116510. 2

878270116511. 3

878270116512. 4

Question Number : 18 Question Id : 87827029575 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270116509. 1
878270116510. 2
878270116511. 3

878270116512. 4

Question Number : 19 Question Id : 87827029576 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement (I) :  Under the framework of communication, political socialisation is related to social
learning in terms of how power is acquired.

Statement (II) : Marginalisation is the basis of political socialisation.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement I are correct

2) Both Statement I and Statement II are incorrect

4

2
(3) Statement I is correct but Statement II is incorrect
(4) Statement I is incorrect but Statement II is correct

Options:

878270116513. 1
878270116514. 2
878270116515. 3
878270116516. 4

Question Number : 19 Question Id : 87827029576 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



4 9 FH R E:

TR (1) TR F TG F ST T Qe T Wi o Hed § i afer ¥ gef
el

R (1) : SR TEAH TR 1 R & |

T Ho o e H, el fow T e H 4 W S 7

(1) R 13 e 1 3 9 &

() YR 1 3R R 11 G e §

(3) R 1T ¢, ©ife e 11 79

(4) IR A ¢, A B 1T ©

Options:

878270116513. 1
878270116514. 2
878270116515. 3

878270116516. 4

Question Number : 20 Question Id : 87827029577 Question Type : MCQ Option Shuffling
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :
Statement (I) :  Media audiences are increasingly active in their communication with each other.,

Statement (II) : Media audiences are also active in communication with creators of mass
communication contents.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement I are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement II is incorrect
(

4)  Statement I is incorrect but Statement II is correct
Options :
878270116517. 1

878270116518. 2

:No



878270116519. 3

878270116520. 4

Question Number : 20 Question Id : 87827029577 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

7 4 Fo e M g

T (1) :  SHEER I o ATk (AIATTO) T G o 19 S HU H S Hioh @ &
O (1) : TR WAW o SR THEAR o o Yok o W FYum o of 5o @ €
IR A % el 8, Al fou U fosed o § e S 9 A

oA | R R 1 A1 9 &

T 1 IR A 11 11 979 §

T | 9 8, T he 11 370 ©

e | 970 &, SR e 11 9 §

1
2
3

(
(
(
(4

)
)
)
)
Options :

878270116517. 1
878270116518. 2

878270116519. 3

878270116520. 4

Question Number : 21 Question Id : 87827029578 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

What number would replace question mark (?) in the series given below ?
31,37, 41, 43, 47, 53, ?, 61

(1) 58
(2) 57
(3) 59
@) 56



Options :

878270116521. 1
878270116522. 2
878270116523. 3
878270116524. 4

Question Number : 21 Question Id : 87827029578 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

= &1 T el W yeAarEss {0 (?) F E-9 g Fiaeenfud ol ?
31, 37, 41, 43, 47, 53, ?, 61

(1) 58
(2) 57
(3) 59
(4) 56

Options:

878270116521. 1
878270116522. 2
878270116523. 3

878270116524. 4

Question Number : 22 Question Id : 87827029579 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



A milkman has a mixture of milk in which the ratio of milk and water is 7 : 4. He sells 55 litres of
this mixture and then adds up 20 litres of pure water. Now the ratio of milkand wateris 7: 6. Find
the new quantity of this mixture,

(1) 70 litres

(2) 195 litres

(3) 130 litres

(4) 210 litres

=

Options:

878270116525. 1
878270116526. 2
878270116527. 3
878270116528. 4

Question Number : 22 Question Id : 87827029579 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
T GYATe o T g o i & fore g o Rl o 9T 724 %1 o 3 fem @ 55 A g € o
3 from % 20 et g R foreien €1 o7 g g SR O A SR 726 2 9 €1 39 fem
A 7 T |
(1) 70T
(2) 19 @&
(3) 130 e
(4) 210 &=
Options :
878270116525. 1
878270116526. 2
878270116527. 3
878270116528. 4

Question Number : 23 Question Id : 87827029580 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A sum of money at simple rate of interest becomes Rs. 2016 in 4 years and Rs. 2286 in 9 years,
What i the principal amount ?

(1) 1800

Q) T 1700

(3) ¥ 1900

(4) T 1850
Options :
878270116529. 1
878270116530. 2
878270116531. 3

878270116532. 4

Question Number : 23 Question Id : 87827029580 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T ST FT AT 6 W 490 W F, 2016 2 S ¢ S 97 6 % 2286 8 A & | AR A €7
(1) % 1800

) F 1700
3) % 190
) % 1850

|

(
(
(4
Options :

878270116529. 1
878270116530. 2
878270116531.3

878270116532. 4

Question Number : 24 Question Id : 87827029581 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A salesman travels from Delhi to Ambala at 30 km/h and returns at 90 km/h. If the total time
taken is 8 hours, find the total distance covered by him.

(1) 480 km
(2) 240 km
(3) 360 km
(4) 280 km

=y

Options :

878270116533. 1
878270116534. 2
878270116535. 3

878270116536. 4

Question Number : 24 Question Id : 87827029581 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
e feghert (FiA) 30 Tt ofe sie o) fe @ feeedt & omvaren ot o & € & 90 fored ofe e 4 fa
B Y S & A A F F a8 5 € @ S 5 @ F T F g T
(1) 480 foFmt
(2) 240 formt
(3) 360 foFmt
(4) 280 formt
Options :
878270116533. 1
878270116534. 2
878270116535. 3

878270116536. 4

Question Number : 25 Question Id : 87827029582 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In a certain coding language :
(a) ‘tee see pee’ means “drink fruit juice’
(b)

(c) ‘lee ree mee’ means ‘he is intelligent’

‘see kee lee” means "juice is sweet’

Which word in this language means ‘sweet’ ?

(1) ‘pee
(2) ‘kee’
(3) ‘lee’
(4) ‘mee’

Options :

878270116537. 1
878270116538. 2
878270116539. 3

878270116540. 4

Question Number : 25 Question Id : 87827029582 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

e 7ad e 9 H

(@) ‘S H ' w Hd § EE Fe 5
(b) ‘Tt = oY Ty T Wi
(c) ‘oft & i’ o ared ® ‘€ T Sefersie’
=H 9 | TR 918 o HY ‘wEe’ § 7

1
(2)
(3)
(4)

Options:



878270116537. 1
878270116538. 2
878270116539. 3

878270116540. 4

Question Number : 26 Question Id : 87827029583 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Name the fallacy committed in the following argument :
“All Russians were revolutionists.

All Anarchists were revolutionists.

Therefore, all Anarchists were Russians.”

(A) Fallacy of four terms

(B) Fallacy of illicit process

(C) Fallacy of undistributed middle

(D) Fallacy of exclusive premises

Choose the correct answer from the options given below :
(1) (A) and (B) Only

(2) (B) and (C) Only

(3) (C) Only

4) (C) and (D) Only

Options :

878270116541. 1
878270116542. 2
878270116543. 3

878270116544. 4

Question Number : 26 Question Id : 87827029583 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



freAfafea o o fFan 7 qehem aareu |
“|uft w1 wifaRRl 9|
Tl SRS AArG! shifdehRl o |
29 foru g4ff srstehamEner w461 91"
(A) =R Y& I T
(B) =T Ufshan 1 dEhe
(C) wifeafa Aea o1 Toha
(D) SHad STUREE! Fl Tha
i< feu U foekedi § 9 W 39 1 999 HiTa;
(1) A (A) 3R (B)

(2) e (B) 3R ()
(3) e (Q)

(4) FaA (C) 3 (D)
Options:

878270116541. 1
878270116542. 2
878270116543. 3

878270116544. 4

Question Number : 27 Question Id : 87827029584 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



In the light of concept of “Terms” which of the following is incorrect ?
(A) The set of attributes shared by all and only those objects to which a general term refers is
called intension.

(B) Every general term has both an intensional and extensional meaning,
(C) The extension of a term determines its intension.

(D) Terms may have different intensions but have the same extension.
Choose the correct answer from the options given below :

(I) (B) and (D) Only
(2) (A)and (B) Only
(3 (B) Only

() (C) Only
Options:
878270116545. 1
878270116546. 2
878270116547. 3

878270116548. 4

Question Number : 27 Question Id : 87827029584 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

" ) R 3 el 3 Frefetan § 9 BT A §

(A) T TR Y § foes o0 o S AR e 3 e ) 9 e e o el e
& o T SR

(B) e WA G 3 TOMeee i s afee, ) ard 2 €|

() W A T 39 T F A g

(D) W1 % fort o0l 2 el € g oY TR 40 €

A1 fow o foedl o 4 WE S 91 7 o



Options :

878270116545. 1
878270116546. 2
878270116547. 3
878270116548. 4

Question Number : 28 Question Id : 87827029585 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Ina square of opposition of propositions which of the [nllnwmg is correct ?

(1) It Ais given as false; O is undetermined
(2) IfEis given as false; [ is false
(3) If Lis given as false; A is false
(4) It Ois given as false; E is true

Options:

878270116549. 1
878270116550. 2
878270116551. 3

878270116552. 4

Question Number : 28 Question Id : 87827029585 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

gfarfead < faue @ o o, ffofed § wH-91 98 872
(1) afg A =1 e FamE T 7 O A €

(2) dfeE 1 Ter =G T E; e €

(3) =g 13T TTeTa ST T A e €

(4) afeO 1 TTeTd FARI T E; E ORI B

Options :



878270116549. 1
878270116550. 2
878270116551. 3

878270116552. 4

Question Number : 29 Question Id : 87827029586 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In the context of Anumana (Inference), the presence of the middle term in the minor term is
called :

(1) Paramarsha

(2) Vyapti
(3) Paksadharmata
(4) Paksa
Options :

878270116553. 1
878270116554. 2
878270116555. 3

878270116556. 4

Question Number : 29 Question Id : 87827029586 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

SFTAA (FTRE) % T | 701 9 H HeF U2 i Sufefd 1 Fel I ¢

(1) o
(2) =
(3)  TeTEH
(4) U

Options :



878270116553. 1
878270116554. 2
878270116555. 3

878270116556. 4

Question Number : 30 Question Id : 87827029587 Question Type : MCQ Option Shuffling :

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following is incorrect in the light of Inductive Argument ?
(A) If the premises are true then the conclusion is probably true.

(B)  The conclusion follows probably from the premises.

(C) Itis unlikely for the premises to be true and the conclusion false.

(D) It is impossible for all the premises to be true and the conclusion false.
Choose the correct answer from the options given below :

(1) (A) and (B) Only

(2) (B) and (C) Only
(3) (C) and (D) Only
(4) (D) Only
Options :

878270116557. 1
878270116558. 2
878270116559. 3

878270116560. 4

No

Question Number : 30 Question Id : 87827029587 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



AT i & 2edish # fefafas § 9 98 98 2
(A) Afg SHR 919 Fel & af fepy Hyrega: 9el 2l @ |

(B) TA=hd Herfasr &9 | MR IRl 1 STTIEH Fd © |
(C) 3! T el § fof SR o et 81 i freed wrera 21
(D) =% 375y T fof |efi o 9/ 9@ @ iR Frend e 2 |
e fou T foeshedi § & W& SO A 997 Hifou;

(1) I (A) 3R (B)

(2) %9 (B) 3R (C)

(3) %9 (C) ¥R (D)

(4) %99 (D)

Options :

878270116557. 1

878270116558. 2

878270116559. 3

878270116560. 4

Question Number : 31 Question Id : 87827029588 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the fn]lnwing pair of acronyms and its expansion are incorrectly matched ?

1) LAN - Local Area Network

(

(2) MAN - Metropolitan Area Network
(3) WAN - Wide Area Network

(4) VPN - Virtual Personal Network
Options:

878270116561. 1
878270116562. 2
878270116563. 3

878270116564. 4



Question Number : 31 Question Id : 87827029588 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

frafafad ® 9 PH-T1 wftal (I6e) iR 39 T 9 &l 9 & gHfea Tl ¢ 7

(1) LAN - dd U Teaw

() MAN - WZmifeed T 4eeh

(3) WAN - ase o ek

(4) VPN - Y3l THAA 2o
Options :

878270116561. 1
878270116562. 2
878270116563. 3

878270116564. 4

Question Number : 32 Question Id : 87827029589 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Statement (1) : (499),, = (L11110011),
Statement (I : (1011101), = (%3),,

In the light of the above statements, choose the most appropriate answer from the options given
below

(1) Both Statement I and Statement II are correct

2
(3
(

) Both Statement I and Statement II are incorrect
3) Statement | is correct but Statement I is incorrect
)

4) Statement I is incorrect but Statement II is correct
Options :

878270116565. 1

878270116566. 2

878270116567. 3

878270116568. 4



Question Number : 32 Question Id : 87827029589 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
FA (I): (499),, = (111110011),
FHYF (I1) : (1011101), = (93),,
IRIE FYA 6 e H, A o 7 fowedi # | w39 7297 Hifau;
(1) AR FBITNIT TAT
2) YT R HUA 11 I A T
(3) YT HA B, Al HAT I 6 B
(4) R IEA B, Wl AT A B

Options :

878270116565. 1
878270116566. 2
878270116567. 3
878270116568. 4

Question Number : 33 Question Id : 87827029590 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Statement (I) : 3D Printers are primarily used in CAD,
Statement (II) : OLEDs require some form of back-lighting so that the screen can be Lit up.

In the light of the above statements, choose the most appropriate answer from the options given

below :

(1) Both Statement I and Statement II are correct

2)  Both Statement I and Statement II are incorrect
3) Statement I is correct but Statement II is incorrect
4)  Statement I is incorrect but Statement II is correct

(
(
(

Options:



8782701165609. 1
878270116570. 2
878270116571. 3

878270116572. 4

Question Number : 33 Question Id : 87827029590 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T (1) 53 fied We: S ¥ swam e o 2

T (1) NS B F3 TR F1 TH-CEICN ] ST B0 ¢ e T ) JRIG Fo2 1
SR 9 & e ¥, e U T s § 9 e SR 9 Fi

(1) IR FAT I T &

() U1 SR R 11 S o R

(3) R 15 ¢, Cife e 11 e ©

(4) O] A &, Wil FO I HA &

Options :

878270116569. 1
878270116570. 2
878270116571.3

878270116572. 4

Question Number : 34 Question Id : 87827029591 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which of the following statements relevant to the trends in modern information technology is/are

correct ?

(A) In traditional computing, data is represented in binary digits while in quantum computing,
data is represented in quantum bits or qubits.

(B) A wearable device capable of activity tracking that measures data such as the number of
steps walked and heart rate is an example of WiMAX,

(C) A collection of nodes capable of environmental sensing, local computation, and
communication with its peers or with other high performance nodes is called a Geographic
[nformation System (GIS).

Choose the correct answer from the options given below :

(1) (A) Only

(2) (B) Only
(3) (A)and (€) Only
(4) (B)and (C) Only
Options :

878270116573. 1
878270116574. 2
878270116575. 3

878270116576. 4

Question Number : 34 Question Id : 87827029591 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



e e i o vt o iy o fomfeim o @ 99 WA e e R

(A) S Frgfem ¥ e aedt fefrem 2w o ¢ it Foen Ffen 6 SR e foeg
o ¥ e < €|

(B)  Fifefe o1 W1 A W e, 2191 H e <N W v 4fe (e W R O e 1 T
7 1 T A I S F A ¢, 98 AR (WIMAX) H T 3 & |

(C) I8 1§ S0 Ve Hole, Tlehet ALY S ST Gy A1 47 T UG el A1gd
Y FER T W W 1 €, S S SR e (o) e o6 g

Options :

878270116573. 1
878270116574. 2
878270116575. 3

878270116576. 4

Question Number : 35 Question Id : 87827029592 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - 1 List - 11
(Cyber Attack) (Description)
(A) Spyware (I)  Sending an email to lure users to fake website to obtain their
personal detals
(B) Phishing (I)  Downloading of malicious code to redirect users to fake website
to obtain their personal details
(C) Ransomware (IT) Keylogger used to record key presses and sending them to third
party
(D) Pharming (IV) Holding hostage a user’s data, often for a release fee

Choose the correct answer from the options giuen below :

(1) (A, (BHI). (CHIV), (DKI)

@ (A, BH, (1Y), DHII)
B (AM1), (BH), (OHIV), (DK
() (M), (BHIY), (K1), (D)1

Options :

878270116577. 1
878270116578. 2
878270116579. 3

878270116580. 4

Question Number : 35 Question Id : 87827029592 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



el & eI 1 fier Fif;

Tl T
(TR ) (foamm)
(A) ETER () v (7o) #1 SR SFER T F S e
oIE T 2 SHT 0 6 fot et 5
(B) ferfeim () 759 1 AT TR TG F & U 3¢ Tl domEe W
TR A g T 3G § 961 T HE H SAAE F
(C) T (1) ‘=" S o e e o 3 v v o) S o ferw 3w foran
R AT -
(D) i (V) Tl 70 % g2 1 G (R o TE S W o
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Al oW T foehedl § 4 e S o T I

(1) (AL, (B)-{1), (CHIV), DH)

) (AR, B, (©-IV), (D)

A, (BHI), (O-1V), (D)
{

2
(3
() (A, B)-1V), (CD), (DHI)

(
) (A)
) (A)
Options:
878270116577. 1
878270116578. 2
878270116579. 3

878270116580. 4

Question Number : 36 Question Id : 87827029593 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which one of the following is an essential requirement for the formation of photochemical smog ?
(I) Water vapour

(2) Sunlight

(3) High temperature

(4)  Snow

Options :



878270116581. 1
878270116582. 2
878270116583. 3

878270116584. 4

Question Number : 36 Question Id : 87827029593 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

YR T HW-hied & i &g frefafes § eF-ar smevas €2

(2) I YHW
(3) = d9YHHA
(4) T
Options :

878270116581. 1
878270116582. 2
878270116583. 3

878270116584. 4

Question Number : 37 Question Id : 87827029594 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which of the following elements is fissile ?
(1) Thorium - 232

(2) Plutonium - 239

(3) Uranium - 237

(4) Uranium - 238

Options :

878270116585. 1



878270116586. 2
878270116587. 3

878270116588. 4

Question Number : 37 Question Id : 87827029594 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Options :

878270116585. 1
878270116586. 2
878270116587. 3
878270116588. 4

Question Number : 38 Question Id : 87827029595 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Sick Building Syndrome (SBS) is caused due to :
(1) Aging of the building

(2) Contaminated indoor air

(3)

(4) Presence of building in a landslide prone area

Contaminated water supply in the building

=

Options:
878270116589. 1
878270116590. 2



878270116591. 3
878270116592. 4

Question Number : 38 Question Id : 87827029595 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T fafedn fagm (vastug.) foas wro g & ?
(1) 9& 1 S0/ &R0

(2) fo sftedl e

(3) wEA ¥ gfua sta @t eyfd

(4) EEST YA &7 | WA H el

Options :

878270116589. 1

878270116590. 2

878270116591. 3

878270116592. 4

Question Number : 39 Question Id : 87827029596 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



What is the correct increasing order of Global Warming Potential (GWP) of following gases ?
(A) Nitrous Oxide (N,O)

(B) Carbon dioxide (CO,)

(C) Methane (CH,)

(D) Chlorofluoro Carbon (CFC)

Choose the correct answer from the options given below :

() (@), @) © D)
2 (D)
() (

( (

2

Options:

878270116593. 1
878270116594. 2
878270116595. 3

878270116596. 4

Question Number : 39 Question Id : 87827029596 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
frmfetfed 7t i aftas @ veuma (i gseg 1) 1 Tet SRR F0 FA-T1E 7
(A) e SRR (N,0)
(B) I TEHAHES (CO,)
(C) A (CH,)
(D) SR e (CFC)
A fou U foshedl H | W& 9L 1 TG iU
(1) (&), 6), Q) D)

(2 (A) (©), (B) (D)
@) (B), (4), (C) (D)
4) () (O) (A) (D)
Options :

878270116593. 1



878270116594. 2
878270116595. 3

878270116596. 4

Question Number : 40 Question Id : 87827029597 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

What is the limit of water availability for a region to be classified as water scarce region ?

(1) Less than 2500 m?/ person/ year

(2) Less than 2000 m’/ person/year

(3) Less than 1500 m®/ person/year

(4) Less than 1000 m’/ person/year
Options:

878270116597. 1
878270116598. 2
878270116599. 3

878270116600. 4

Question Number : 40 Question Id : 87827029597 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A~ & % 9§ afigha & § STl Suetear i i @ wd € 2
(1) 2500 He® yfd =Afea ufd a9 9 &H

(2) 2000 HreP wfaq =af gfq 3d | #H
(3) 1500 HreP Wi =afe ufd ad | #H
(4) 1000 He© yfd =Afed fd a9 ¥ A
Options:

878270116597. 1

878270116598. 2



878270116599. 3

878270116600. 4

Question Number : 41 Question Id : 87827029598 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement (I) :  According to NEP 2020, one of the verticals of Higher Education Commission of
India (HECI), General Education Council (GEC) will be responsible for
accreditation of Higher Education Institutions (HEIs)

Statement (II) : According to NEP 2020, through a suitable system of graded accreditation and
graded autonomy, and in a phased manner over a period of 15 years, all HEs in
India will aim to become independent self-governing institutions.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement I are correct

(2) Both Statement I and Statement I are incorrect
(3)  Statement [ is correct but Statement II is incorrect
(4) Statement I is incorrect but Statement II is correct
Options :

878270116601. 1

878270116602. 2

878270116603. 3

878270116604. 4

Question Number : 41 Question Id : 87827029598 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



FIﬁaWﬁ'QﬂT{%:

F (1) T firen o 2020 % SR A 3 e o (TR O s qwe fren
uftee (SEHT), 39 e Heam & e o feru sverdt |

TR (1) : T fen A 2020 F SFER 15 T  FewEY F A TG 7§ A FAH
SR ST T %1 T S O g T -9 SR o 54 3 g A
ekl

IR T & e 8, 7 feu m fomed ¥ 1w E e wi

(1) FFIIRFIR TA 2

(2) YR 1 3 R 11 G 5 &

(3) O ITA ¢, TR HOF 1 A €

(4) U1 A B, A FT T &

Options:

878270116601. 1
878270116602. 2
878270116603. 3

878270116604. 4

Question Number : 42 Question Id : 87827029599 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In the preamble of the Indian Constitution which of the following value is not stated ?
(1)  Justice
(2) Equality
(3) Courage
(4) Liberty
Options :
878270116605. 1
878270116606. 2
878270116607. 3

878270116608. 4



Question Number : 42 Question Id : 87827029599 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

TR T 1 yere § fefafad § #0-9 900 #1 I T R e ?

(1) =4
(2) HHMA
(3) HEH
(4) @I
Options :

878270116605. 1
878270116606. 2
878270116607. 3
878270116608. 4

Question Number : 43 Question Id : 87827029600 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Government of India constituted a Uni\;ersil}F Education Commission in November-1948 under
the Chairmanship of __ s o

(I) Dr. Lakshmanaswamy

2)  Shri Maulana Abul Kalam Azad
3)  Dr. Radhakrishnan

4) Dr. Yash Pal

(
(
(
Options:

878270116609. 1
878270116610. 2
878270116611.3

878270116612. 4



Question Number : 43 Question Id : 87827029600 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

frfefen 5 frme e o YRE SR 3 TaaT 1948 § fovafowr fen swm & e fam a7

(1) 3. A T

(2) 4 I S FA S
(3) . TIFIH

(&) 3. T

Options :

8782701166009. 1
878270116610. 2
878270116611. 3

878270116612. 4

Question Number : 44 Question Id : 87827029601 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List -1 List - 1I
(Educational Stages) (Description)
(A) Samavartan () Those who completed 48 years course or study of four
Vedas
(B) Vasu (I)  Those who completed 36 years course or study of any three
Vedas
(€) Rudra (Il) Those who completed 24 years course or study of any two
Vedas
(D) Aditya (IV) A convocation ceremony

Choose the correct answer from the options given below :
(1) (M, BHIV), (-1, (OHI

(2)  (AHI), (B0, (CHI), D)-(1V)
() (AHLV), (B, (CHI), D))
() (AHT), (BH), (O-1V), (D)
Options :

878270116613. 1
878270116614. 2
878270116615. 3

878270116616. 4

Question Number : 44 Question Id : 87827029601 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Telt-1 § Gelt-11 1 et 1
Tl T-II
( Vtfeger =reor ) ( ferarur )

(A) HHTRH (1) o= 48 991 1 TSRy 1 <R 36 A e o o

(B) = (1) T=H 36 a1 1 UIETHN A1 I A4 o) 1 AT U foa
) % (1) o= 24 31 o1 TISTRR A1 g <) 9G] 1 A T feR
(D) anfee (IV) SleTa JWRTE

A feu U forred W § WE I A A HifC;

(1) (A)(I), B)-(IV), (C)-(1), (D)-(LIT)

(2) (A, (B)-(I), (CHII), (D)-IV)

(8)  (ARIV), (B)-(IIT), (C){II), (D))

(4)  (A)I), (B, (C-(IV), (D)-(II)

Options :

878270116613. 1
878270116614. 2
878270116615. 3
878270116616. 4

Question Number : 45 Question Id : 87827029602 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Who among the following was the moving force behind the enactment of the Indian Universities
Act in the beginning of 20t Century ?

(I) Lord Canning

(2) Lord Curzon
(3) Charles Wood
(4)  Lord Dalhousie

Options :
878270116617. 1
878270116618. 2

878270116619. 3



878270116620. 4

Question Number : 45 Question Id : 87827029602 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

20 & YT o Sy § e fovafoerer afufm & sfvfmm & o fefafes 5 9 fagm ga a7
1) @ Hfm

Options :

878270116617. 1
878270116618. 2
878270116619. 3

878270116620. 4

Sub-Section Number : 3
Sub-Section Id : 8782701271
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Id : 87827029603 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (46 to 50)

Question Label : Comprehension



Read the passage and answer the questions that follow :

Feminism is a meta-ideology that has been receiving attention in many areas of social sciences
in recent decades. The starting point for introducing gender to International Relations is with
respect to debate about basic inequalities between males and females and the consequences of
such inequalities on World Politics. The noted works on global gender issues argue that compared
with men, women constitute the disadvantaged group. They own about 1 per cent of the world’s
property and less than 5 per cent head higher organizations and positions while they account for
60 per cent of all working hours but receive only 10 per cent of all income. Their condition is so
deplorable as the illiteracy rate is high among them; that is 60 percent of all illiterates are women
and 80 per cent of all refugees are women, This gender discrimination is apparent universally.

A gender-sensitive focus on the world politics seeks to bring such challenges into open. It
points out the working of international political and economic systems that tend to produce an
underprivileged position for women. Jacqui True pointed out that economic development policies
of structural adjustment adopted by the International Monetary Fund (IMF) and the World Bank
and changes in the international division of labour contribute to an increased ‘feminization of
poverty’. Low paid strenuous work in export processing zone, sex tourism and migrant domestic
labour are examples of how development in international economy engages in exploitation of
women. Different forms of gender inequalities and discrimination may be found in advanced
industrial societies even after many decades of high rates of participation of women in workfares.

Sub questions

Question Number : 46 Question Id : 87827029604 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Women face gender inequalities and discrimination in :
(1) Developing Nations

(2) Developed Nations

(3) Globally

(4) Highly Industrialized Societies
Options :

878270116621. 1

878270116622. 2

878270116623. 3

878270116624. 4

Question Number : 47 Question Id : 87827029605 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Why do women constitute the disadvantaged group ?
(A) Own more property than man

(B) Get lower wages than men

(C) Work longer hours for less wages

(D) Are less literate than men

(E) Have limited positions of power

Choose the correct answer from the options given below :
(1) (A), (B) and (C) Only

(2) (B) and (D) Only

(3) (B), (D) and (A) Only

4) (B), (C), (D) and (E) Only

Options :

878270116625. 1
878270116626. 2
878270116627.3

878270116628. 4

Question Number : 48 Question Id : 87827029606 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Choose the statements that are correct.
20% of all refugees are men

B) Less than 5% women head higher organizations and position of power

(

(

(C) 60% of all illiterates are women

(D) Women account for 10% of all working hours
{

Men receive 90% of all income

Choose the correct answer from the options given below :
(1) (A)and (B) Only

( (C), (D) and (E) Only

(3) () and (C) Only

(4) (A), (B), (C) and (E) Only

Options:

878270116629. 1

878270116630. 2

878270116631. 3

878270116632. 4

Question Number : 49 Question Id : 87827029607 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

"Low paid strenuous work in export processing zone, sex tourism and migrant domestic labour”,
are examples of Exploil'ation of women in :

(I) International Economy
Economies of Industrialized Nations

2
(3
(

)
) Economies of Developing Nations
)

}

Domestic Economy

Options :

878270116633. 1
878270116634. 2
878270116635. 3

878270116636. 4



Question Number : 50 Question Id : 87827029608 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement (I) : The working of International political and economic systems tend to produce an
underprivileged position for women,

Statement (II) : Economic development policies adopted by the International Monitory Fund and
the World Bank contribute to an increased “feminization of poverty'.

In the light of the above statements, choose the most appropriate answer from the options given

below :

(1) Both Statement I and Statement II are correct
5

o
k
(

4)  Statement I is incorrect but Statement Il is correct

Both Statement I and Statement Il are incorrect

)
) Statement I is correct but Statement II is incorrect

Options :

878270116637. 1
878270116638. 2
878270116639. 3

878270116640. 4

Question Id : 87827029603 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (46 to 50)

Question Label : Comprehension
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Sub questions

Question Number : 46 Question Id : 87827029604 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Tfeenall =1 ST aaar iR SETa B\ A ISl ©

(1) foewrasia eo ®

(2) foerfaa <uii #

(3) ¢ favad

(4) AU SEnfTeRid gars o
Options :

878270116621. 1
878270116622. 2
878270116623. 3



878270116624. 4

Question Number : 47 Question Id : 87827029605 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
wfgerd sfed T9E 4 © 7

(A) 3Tk I gEU H AfHeE el €

(B) I qEUl ¥ FH W gfer et € |

(C) & Fm uftafier o sifus T o e FE ¥ |
(D) 9 G%UI i oIl H HH WA T

(E) 3k 919 HaTeHek 95 HIfHd € |

= Teu T foekredi § 9 W& ATl =G hifelu:
(1) &9 (A), (B) 3R (C)

) 94 (B) 3R (D)

(3) 9 (B), (D) SR (A)

) e (B), (C), (D) ¥R (E)

Options :

878270116625. 1
878270116626. 2
878270116627.3

878270116628. 4

Question Number : 48 Question Id : 87827029606 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



el ORI T FITe |

(A) T Ionfeft % 20 TioeE 759 2

(B) 5w & % Aieell S TSl iR Teene ve) % W W o €
(C) \efi el =1 60 Wi wfeard € |

(D) wfeensii # F& FEmEH F 10 Wawd & 99 S g

(E) TE &1 F 3T H 90 Fiawwd T 91 Bl ¢ |

A fou U fokedi ® | Tl ST &1 oA Fifo;

(1) 5 (A) 3R (B)

(2) ¥ (C), (D) &R (E)

(3) 9@ (B) 3 (C)

(4) @ (A), (B), (C) 3 (E)

Options :

878270116629. 1
878270116630. 2
878270116631. 3
878270116632. 4

Question Number : 49 Question Id : 87827029607 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
e TR 06 o5 T e e i o e e e o e
o Y0 o TR & 7
(1) SR e
() ST T e
(3) foreriie < & Seferarand
(4) ] A
Options :
878270116633. 1

878270116634. 2



878270116635. 3
878270116636. 4

Question Number : 50 Question Id : 87827029608 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Fﬁﬁﬂ@ﬂfﬂm{%:
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el el €1
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(1) RIS eI 9 %

() FRIIMFW T 959 ¢

(3) O 1 H ¢, Cifé e 11 997 ©

(4) U1 A &, A FHA &

Options :

878270116637. 1

878270116638. 2

878270116639. 3

878270116640. 4
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Number of Questions : 92
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Question Shuffling Allowed : Yes
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Question Number : 51 Question Id : 87827029609 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A W STh[E TEarsl TaEiar 9rh o $rr o2

(1) =t
(2) =T
(3) T
(4) @rHE
Options :

878270116641. 1
878270116642. 2
878270116643. 3

878270116644. 4

Question Number : 51 Question Id : 87827029609 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(1) =

Options:

878270116641. 1
878270116642. 2
878270116643. 3

878270116644. 4

Question Number : 52 Question Id : 87827029610 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270116645. 1
878270116646. 2
878270116647. 3
878270116648. 4



Question Number : 52 Question Id : 87827029610 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

" W AT T B WA T o AR T 9w s amn

Options :

878270116645. 1
878270116646. 2
878270116647. 3

878270116648. 4

Question Number : 53 Question Id : 87827029611 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

SMHTA Tfendl FHOR ST Had {99 &7 GHEd A

(1) =
(2) ferers
(3)
(4) ferfa=w

Options:



878270116649. 1
878270116650. 2
878270116651. 3

878270116652. 4

Question Number : 53 Question Id : 87827029611 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

oMHTA 2TfSendl SR THA rad fSaM & @9rad A

(1) =
(2) ferers
(3) <
(4) ferfa=w
Options :

878270116649. 1
878270116650. 2
878270116651. 3

878270116652. 4

Question Number : 54 Question Id : 87827029612 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



(1) rER
(2) emfER
() e
(4) emETS
Options :

878270116653. 1
878270116654. 2
878270116655. 3
878270116656. 4

Question Number : 54 Question Id : 87827029612 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Huer enfeardl % URE STRT Wiel (Rl HETen?

(1) R
(2) enfEq
() wETA
(4) TS
Options :

878270116653. 1
878270116654. 2
878270116655. 3
878270116656. 4



Question Number : 55 Question Id : 87827029613 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

" TR ) U W I AHOEE S TeW ST A qAT

(1) w=f S
() wefE et
(3) emerd favemy
(4) emerd s

Options :

878270116657. 1
878270116658. 2
878270116659. 3

878270116660. 4

Question Number : 55 Question Id : 87827029613 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

"o T g W A R A ST RS ST W HATR

(1) =&fd 3
() wefE et
(3) emrd favemy
(4) em=rd SR

Options :



878270116657. 1
878270116658. 2
878270116659. 3

878270116660. 4

Question Number : 56 Question Id : 87827029614 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
(1) & o
(2) ©
(3) WA TR

(4) g T
Options :
878270116661. 1
878270116662. 2
878270116663. 3

878270116664. 4

Question Number : 56 Question Id : 87827029614 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



(1) & o
(2) ¥ o
() WM o

(4) TS o
Options:
878270116661. 1
878270116662. 2
878270116663. 3
878270116664. 4

Question Number : 57 Question Id : 87827029615 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T & T9eam oarF @R SAE
(1) =

(2) e

3) =

(4)

Options :

878270116665. 1
878270116666. 2
878270116667. 3

878270116668. 4



Question Number : 57 Question Id : 87827029615 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

AT « TS O @R SEA P

(1) =
(2) =
) =
(4) -
Options :

878270116665. 1
878270116666. 2
878270116667. 3

878270116668. 4

Question Number : 58 Question Id : 87827029616 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

‘aTeTR’ W W T

(1) -
(2) =N

(3) ™

(4) FreA
Options :

8782701166609. 1



878270116670. 2
878270116671. 3

878270116672. 4

Question Number : 58 Question Id : 87827029616 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

‘SRt | W WD

(1) =TT
(2) =

() T

(4) HTIA
Options :

8782701166609. 1
878270116670. 2
878270116671. 3

878270116672. 4

Question Number : 59 Question Id : 87827029617 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Wi & fraes e

(1) =X e
(2) U o&E
(3) WA T

(4) wrg ©&E
Options:
878270116673. 1
878270116674. 2
878270116675. 3
878270116676. 4

Question Number : 59 Question Id : 87827029617 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Wi & TR @

(1) =X e
(2) U o&E
(3) WA THH

(4) #rg ©EE
Options :
878270116673. 1
878270116674. 2
878270116675. 3
878270116676. 4



Question Number : 60 Question Id : 87827029618 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

g T TR ‘s’ T owTlesr HATReT?

(1) =rs
(2) =
(3) WA
(4) =g
Options :

878270116677. 1
878270116678. 2
878270116679. 3

878270116680. 4

Question Number : 60 Question Id : 87827029618 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

T T TR ‘Hvs’ T owTResr HATEReT?

(1) =g
(2) =
(3) @
(4) wg
Options :

878270116677. 1



878270116678. 2
878270116679. 3

878270116680. 4

Question Number : 61 Question Id : 87827029619 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

WEE Y T STel W T STHRT WIS SR
(1) T g

(2) T W= =@

(3) HUIHEA Tw

(4) <fFTe= =rEaa
Options :

878270116681. 1

878270116682. 2

878270116683. 3
878270116684. 4

Question Number : 61 Question Id : 87827029619 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



FEE T T AOTem WTHT § SR WIS STWeRTer
(1) wremeag =99
(2) T W= Tw@

(3) HUHEA Tw

(4) dfFge< =IZrEag
Options:

878270116681. 1

878270116682. 2

878270116683. 3

878270116684. 4

Question Number : 62 Question Id : 87827029620 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

o frorer Uer’ oo T’ M S ST W W WER ST
(1) 1931 9 1

(2) 1933 =& 1

(3) 1936 = 1

(4) 1938 W 1

Options :

878270116685. 1
878270116686. 2
878270116687. 3
878270116688. 4



Question Number : 62 Question Id : 87827029620 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

ow frore froer’ oo e’ M S ST W W WER S
(1) 1931 9& 1

(2) 1933 W 1

(3) 1936 FA I

(4) 1938 W 1

Options :

878270116685. 1
878270116686. 2
878270116687.3

878270116688. 4

Question Number : 63 Question Id : 87827029621 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

A STASE [ A LAHA T TAA A
(1) =fEwaa g=4

(2) wETER gEE fgEe

(3) wEEET T

(4) YT GHE

Options :

878270116689. 1



878270116690. 2
878270116691. 3

878270116692. 4

Question Number : 63 Question Id : 87827029621 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
‘T AT AT [ ART T TAA  AHE
(1) =wferma s=H

(2) wEER R fgad

(3) wEERdET W=
(4) SEYHT gHE
Options :

878270116689. 1
878270116690. 2
878270116691. 3

878270116692. 4

Question Number : 64 Question Id : 87827029622 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



AT W oT=rd & 99 W@ foare 9 #r oiE emeRren?
(1) =X 9k

(2) °w ok

(3) A U

(4) ©S AR

Options:

878270116693. 1

878270116694. 2

878270116695. 3
878270116696. 4

Question Number : 64 Question Id : 87827029622 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A W U= & 99 @R fraren. 89 &1 AR e
(1) =X 9%

(2) 9 o

(3) WA uTF

(4) =g o

Options :

878270116693. 1

878270116694. 2

878270116695. 3
878270116696. 4



Question Number : 65 Question Id : 87827029623 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

"HT W TR NUE TS F O S AT A0 S ST )

(4) &

Options :

878270116697. 1
878270116698. 2
878270116699. 3

878270116700. 4

Question Number : 65 Question Id : 87827029623 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

"FT T T MTE T AN F WA S AT A0 q TR F

(4) &
Options :

878270116697. 1



878270116698. 2
878270116699. 3

878270116700. 4

Question Number : 66 Question Id : 87827029624 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

i

5§

(4

TfEd 9% - Heag e o wus 9o’

TH 2T 9 T ST MHUH TATRST?

(1) ¥
(2) sw
(3) sf=rEmE
(4) <
Options :

878270116701. 1
878270116702. 2
878270116703. 3
878270116704. 4

Question Number : 66 Question Id : 87827029624 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



i

5§

(¢

TSifed 9% - Toad 9 o1 9us &l

TH 2THMH 9% T 2T ST TATReT?

(1) %
(2) W
(3) feE
(4) <TIorE
Options :

878270116701. 1
878270116702. 2
878270116703. 3

878270116704. 4

Question Number : 67 Question Id : 87827029625 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

faed A oW 99 W e’ A W T AT T WS HEA FA

(4) fa
Options :
878270116705. 1
878270116706. 2
878270116707. 3
878270116708. 4



Question Number : 67 Question Id : 87827029625 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

faed T oW 99 W Fen A9 G IR A [ WS HEA FAI

(4) Tou

Options :

878270116705. 1
878270116706. 2
878270116707. 3

878270116708. 4

Question Number : 68 Question Id : 87827029626 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



“EY 9 WY SrEHdl 9En e,

SRR A1 g foag T me

et fafear! arfeal =rems ! AT W ST |l WA
(1) ®8l T °E

(2) =g HE&

(3) T T

(4) =\E WE

Options :

878270116709. 1
878270116710. 2
878270116711.3

878270116712. 4

Question Number : 68 Question Id : 87827029626 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



“E|Y W W el aT e,
TER 9 "W fag T
wer fafer! aifedl srema) ) AT T T WE HED

(1) w5 e |L=

(2) =g WG
(3) T T
(4) <@g W@
Options :

878270116709. 1
878270116710. 2
878270116711. 3
878270116712. 4

Question Number : 69 Question Id : 87827029627 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

“Trg i TR U Al & Aq W

(1) +=ar =1

(2) TA wrEm
() ==A

(4) freg e
Options :

878270116713. 1



878270116714. 2
878270116715. 3

878270116716. 4

Question Number : 69 Question Id : 87827029627 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

“Erg I wEr U AT & A W

(1) *=ar =1

(2) 9 e
(3) ==A

(4) freg =reen
Options :

878270116713. 1
878270116714. 2
878270116715. 3

878270116716. 4

Question Number : 70 Question Id : 87827029628 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



YomfE T W R O WS T TR SaRl ¥ S, UM oMW T
Sfrfe W W AF FET ¢ T ST R T WA TR, faverd,
T ot g TR @ AW AW R W Y W WEE 86 A,
AT, FA A A A, o e, e W
T RS W O P TR (E-IEE M e ¥ GRS, s #
T TR ST e, o Hae, fel Al WA & ST F

1) o Wi T
() o o
(3) o FORE A

#) o 993
Options :
878270116717. 1
878270116718. 2
878270116719. 3

878270116720. 4

Question Number : 70 Question Id : 87827029628 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



YomfE T W R O WS T TR SaRl ¥ S, UM oMW T
Sfrfe W W AF FET ¢ T ST R T WA TR, faverd,
T ot g TR @ AW AW R W Y W WEE 86 A,
AT, FA A A A, o e, e W
T RS W O P TR (E-IEE M e ¥ GRS, s #
T TR ST e, o Hae, fel Al WA & ST F

1) o Wi T
() o o
(3) o FORE A

#) o 993
Options :
878270116717. 1
878270116718. 2
878270116719. 3

878270116720. 4

Question Number : 71 Question Id : 87827029629 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

'IEr @A’ T HET QAT S ST SUER. Il

(1) =@ 9F
(2) wwTET T
(3) waemH AH

(4) wTAFIR SEH

Options :



878270116721. 1
878270116722. 2
878270116723. 3

878270116724. 4

Question Number : 71 Question Id : 87827029629 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

‘et WM’ ST WET QAT S SR SO, WIATY

(1) =R &A
(2) wrmEE =
(3) waew e

(4) TR TR
Options :
878270116721. 1
878270116722. 2
878270116723.3

878270116724. 4

Question Number : 72 Question Id : 87827029630 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



(1) AT |9A aEdAH
(2) ernfew faa Hered

(3) enEgeTe HH ewfears
(4) TATA TE IAMEEES
Options:
878270116725. 1
878270116726. 2

878270116727.3

878270116728. 4

Question Number : 72 Question Id : 87827029630 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
(1) oA |RA A
(2) onfee fi wareR

(3) engerer HqY ewfars
(4) TITA TR IAMEES
Options :
878270116725. 1
878270116726. 2

878270116727.3
878270116728. 4



Question Number : 73 Question Id : 87827029631 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

‘Are wren’ ordge el W e TMeR STArSe WArRew?
(1) 36 TR 2THEe

(2) 53 A AAATSE

(3) 38 TIEH =THIEE

(4) 57 TR MATSE

Options :

878270116729. 1
878270116730. 2
878270116731.3

878270116732. 4

Question Number : 73 Question Id : 87827029631 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

'|IE e’ SR T WO TS oTArSE HArRe
(1) 36 TRE =TATSE

(2) 53 TR TSR

(3) 38 TREE =TSR

(4) 5 MRER TS

Options :

878270116729. 1



878270116730. 2
878270116731. 3

878270116732. 4

Question Number : 74 Question Id : 87827029632 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
T HEE WER T, mEr g q1°
T2 SHATSE o =TT °MA(SE WA BIErg TR
(1) T ¥ §@[
(2) +RIErR @
(3) =ToME @M
(4) THET SmET @A
Options :
878270116733. 1
878270116734. 2

878270116735. 3
878270116736. 4

Question Number : 74 Question Id : 87827029632 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



‘O wIvEl RO FI, felEt o W,
I HEE HER T, Mer qug ql°
AT AAATGE T AT STAISE WH FAE AHEAT
(1) T™F ¥@ @A
(2) ETR @A

() TS WM

(4) T EmET WA
Options:
878270116733. 1
878270116734. 2

878270116735. 3

878270116736. 4

Question Number : 75 Question Id : 87827029633 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
TR 9= 99 °emh TEE & 2T A

3

(1) wavs
(2) Srer W
(3) TE TR
(4) =rem T
Options :

878270116737. 1
878270116738. 2

878270116739. 3



878270116740. 4

Question Number : 75 Question Id : 87827029633 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

TR 9= 99 2eeh TEE & 2T

3

(1) wavs
(2) e
(3) & eTER
(4) wrem HeH
Options :

878270116737. 1
878270116738. 2
878270116739. 3

878270116740. 4

Question Number : 76 Question Id : 87827029634 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

‘ST oA Hrem’ G o WOW L BT WEE TR
(1) 1990 ¥

(2) 1994 =T

(3) 1995 H@ I

(4) 2002 FEM 3



Options :

878270116741. 1
878270116742. 2
878270116743. 3

878270116744. 4

Question Number : 76 Question Id : 87827029634 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

‘ST e Tren’ qul ST UTW T S WEE ST
(1) 1990 ¥ I

(2) 1994 =T I

(3) 1995 =W I

(4) 2002 T 3
Options:
878270116741. 1
878270116742. 2
878270116743. 3

878270116744. 4

Question Number : 77 Question Id : 87827029635 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



‘oMerTe WmRT’ SR SN ShTeAl ST

(1) =eere g
(2) wwErR ErE
() s ®W AT g

(4) TdleTe HIUET

Options:

878270116745. 1
878270116746. 2
878270116747.3

878270116748. 4

Question Number : 77 Question Id : 87827029635 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

‘oTMeTe ATET’ 2RI ST, HIEAT T
(1) =reers 25

(2) ¥U=IE wEET

() ST T TE T

(4) SdleTeT AU

Options :

878270116745. 1
878270116746. 2
878270116747.3

878270116748. 4



Question Number : 78 Question Id : 87827029636 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

e R oiems AT M ST WO Y W WER 2T
(1) 1994 T T

(2) 1993 T I

(3) 1992 ¥ I

(4) 1991 T I

Options :

878270116749. 1
878270116750. 2
878270116751.3

878270116752. 4

Question Number : 78 Question Id : 87827029636 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

A el orems T M ST WO T BT WER 2T
(1) 1994 ¥ T

(2) 1993 T I

(3) 1992 T I

(4) 1991 T I

Options :

878270116749. 1



878270116750. 2
878270116751. 3

878270116752. 4

Question Number : 79 Question Id : 87827029637 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

g

(1) R

(2) fm e
() W fHa
(4) fomr we

Options :

878270116753. 1
878270116754. 2
878270116755. 3

878270116756. 4

Question Number : 79 Question Id : 87827029637 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



B WA WY AUAT WG STHRE WA SO FE AEHE
(1) @R

(2) fm e

(3) werE fha

(4) faat =

Options:

878270116753. 1
878270116754. 2
878270116755. 3

878270116756. 4

Question Number : 80 Question Id : 87827029638 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

"W Wiad’ WemH TR WO WH 9T AEE T o
(1) 1980 @&

(2) 1981 @A I

(3) 1982 @A ¥

(4) 198 WA
Options :
878270116757. 1
878270116758. 2
878270116759. 3
878270116760. 4



Question Number : 80 Question Id : 87827029638 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
'‘OUH WiOdr’ UemH o ST @F 9T WA Y oA

-

(1) 1980 | T
(2) 1981 @@ I
(3) 1982 @& I

(4) 1983 WA ¥

Options :

878270116757. 1
878270116758. 2
878270116759. 3

878270116760. 4

Question Number : 81 Question Id : 87827029639 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

‘aTere’ WM ® STERIATR. WTHSTS TR ol
(1) T aren

(2) #ET 9% T

(3) TEA HEA ¥

(4) = Fed T

Options :

878270116761. 1



878270116762. 2
878270116763. 3

878270116764. 4

Question Number : 81 Question Id : 87827029639 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

‘oTerE’ WM & STERETR. WIS TR ol
(1) TIuTer =reh

(2) #ET W =W

(3) WA HEA ¥H

(4) =t F=d T

Options :

878270116761. 1
878270116762. 2
878270116763. 3
878270116764. 4

Question Number : 82 Question Id : 87827029640 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



W WA [T F SAPRER. WM T USaq A
(1) e

(4) e
Options:
878270116765. 1
878270116766. 2
878270116767. 3
878270116768. 4

Question Number : 82 Question Id : 87827029640 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T U AT SRR WAH T FUSAq A/
(1) e

(4) e
Options :
878270116765. 1
878270116766. 2
878270116767. 3

878270116768. 4



Question Number : 83 Question Id : 87827029641 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

TE WA T AHT WAAA G MR A A

(1) ww fos
(2) =reA foE
(3) THTER fHE
(4) @ foe
Options :

878270116769. 1
878270116770. 2
878270116771.3

878270116772. 4

Question Number : 83 Question Id : 87827029641 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

TE FIEA T AT RAAT G MR A A

(1) = foe
(2) @A foE
(3) wmvE fug
(4) @y o=
Options :

878270116769. 1



878270116770. 2
878270116771. 3

878270116772. 4

Question Number : 84 Question Id : 87827029642 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

TR @R 2T I 31 WS SArSE  (WeTehrsd) FE

(1) e =E 2ISe

(2) fosua

(3) foer mmew
(4) =TemTeT
Options :

878270116773. 1
878270116774. 2
878270116775. 3

878270116776. 4

Question Number : 84 Question Id : 87827029642 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



TR @R 2T T &1 WS SIAISe  (WeTehrsd) FHE1

(1) e =l 2AArsE

(2) fosu=

(3) foer e
(4) =TemTer
Options :

878270116773. 1
878270116774. 2
878270116775. 3

878270116776. 4

Question Number : 85 Question Id : 87827029643 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

HaTel B 3 fatarver WO = 2Rt ST 19 WA TErdAr?
(1) =Tvs9H 2y, S|

(2) fosst 5@ U

(3) wrTeRE S T

(4) o S T

Options :

878270116777. 1
878270116778. 2
878270116779. 3
878270116780. 4



Question Number : 85 Question Id : 87827029643 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

HaTel B 3 faterver Wio § 2Rt ST 19 WA TerdAr?
(1) oTveuH 2m, Sid

(2) foEsst 5@ U

(3) wrER S T

(4) o S

Options :

878270116777. 1
878270116778. 2
878270116779. 3

878270116780. 4

Question Number : 86 Question Id : 87827029644 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
SR AT A T T A A W S 9 e R R e

e TSeAn "’ A WA G TR W ST

(3) wrEm <rE

(4) WH T

Options :



878270116781. 1
878270116782. 2
878270116783. 3

878270116784. 4

Question Number : 86 Question Id : 87827029644 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
'S S T A e g f e o

e TSeAn "’ A WA G TR W ST

(3) wTET TR

(4) WH T
Options :
878270116781. 1
878270116782. 2
878270116783. 3

878270116784. 4

Question Number : 87 Question Id : 87827029645 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



FEAT FTSH T AT AHE FEAE?
(1) T%TH
(2) Mg TE
(3) FEE TE

(4) g T&
Options:
878270116785. 1
878270116786. 2
878270116787. 3

878270116788. 4

Question Number : 87 Question Id : 87827029645 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

FEAT EEM ¢ & 9 2TH[E HA?
(1) = T5

(2) Mg TE

) I TE

(4) SE TE

Options :

878270116785. 1

878270116786. 2

878270116787. 3

878270116788. 4



Question Number : 88 Question Id : 87827029646 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

‘TR’ T 2RI AT

(1) =ras
(2) WTWE W RS
(3) TS

(4) I AT
Options :
878270116789. 1
878270116790. 2
878270116791. 3

878270116792. 4

Question Number : 88 Question Id : 87827029646 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

‘TR’ T 2RI AT

(1) =raes
(2) WEWEM W RS
(3) TS

(4) “RSM AR

Options :

878270116789. 1



878270116790. 2
878270116791. 3

878270116792. 4

Question Number : 89 Question Id : 87827029647 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

HH e <SH & =6 AR/

(1) e F=R
(2) wrE @rarg
3) T =E
(4) WU FTH
Options :

878270116793. 1
878270116794. 2
878270116795. 3
878270116796. 4

Question Number : 89 Question Id : 87827029647 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



HA e <ASH & el AR/

(1) Wl F=

(2) = =rarg
() = =¥
(4) WU wTR
Options:
878270116793. 1
878270116794. 2

878270116795. 3
878270116796. 4

Question Number : 90 Question Id : 87827029648 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

TWETT FUGH A AR AR WH SIS P T UM S Her
(1) =19 femm

(2) =M fEm

(3) for feam

(4) e feEm

Options :

878270116797. 1

878270116798. 2

878270116799. 3
878270116800. 4



Question Number : 90 Question Id : 87827029648 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T WUGM B RN AN WA AT HIA AHT HH HOAE FE
(1) = fear
(2) = fewm
() fosnr femm
(4) emm femmw

Options :

878270116797. 1
878270116798. 2
878270116799. 3

878270116800. 4

Question Number : 91 Question Id : 87827029649 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



ST & AT TICEHEEs. TEE SEEdr S[AH A

A SEFEER
B. HME®I-HUS
C. d=maw

D. faq #=u
E. <SmtW

AR ¥ T TR ferpeaehl @A TR, don =@erd A
(1) wrT A 21X B
2) @A B 2 C
3) W C =m D

4) @3 D =m E

Options:

878270116801. 1
878270116802. 2
878270116803. 3
878270116804. 4

Question Number : 91 Question Id : 87827029649 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



ST & AT TICEHEEs. TEE SEEdr S[AH A

A SEFEER
B. HME®I-HUS
C. d=maw

D. faq #=u
E. <SmtW

AR ¥ T TR ferpeaehl @A TR, don =@erd A
(1) wrT A 21X B
2) @A B 2 C
3) W C =m D

4) @3 D =m E

Options:

878270116801. 1
878270116802. 2
878270116803. 3
878270116804. 4

Question Number : 92 Question Id : 87827029650 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



D. on{=rd wrarareh sl = TET

E. o{=rel SETSiheT

AR T UH 2TehIq fashedshl |F TEIEeh den =msrg H-
(1) =T A 2 B

2) @3 B 2am C

3) wA C =2m D

4) @3 D =m E

Options:

878270116805. 1

878270116806. 2

878270116807. 3

878270116808. 4

Question Number : 92 Question Id : 87827029650 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



D. on{=rd wrarareh sl = TET

E. o{=rel SETSiheT

AR T UH 2TehIq fashedshl |F TEIEeh den =msrg H-
(1) =T A 2 B

2) @3 B 2am C

3) wA C =2m D

4) @3 D =m E

Options:

878270116805. 1

878270116806. 2

878270116807. 3

878270116808. 4

Question Number : 93 Question Id : 87827029651 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



A. T

B. g

C. =amam

D. warwd
E. @™

TM TH 2T, foheqshl @A Qa7 e -
(1) wrT A 21X B
2) @A B 2 C
3) W C =m D

4) @3 D =m E

Options:

878270116809. 1
878270116810. 2
878270116811. 3
878270116812. 4

Question Number : 93 Question Id : 87827029651 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



A. T

B. g

C. =amam

D. warwd
E. @™

TM TH 2T, foheqshl @A Qa7 e -
(1) wrT A 21X B
2) @A B 2 C
3) W C =m D

4) @3 D =m E

Options:

878270116809. 1
878270116810. 2
878270116811. 3
878270116812. 4

Question Number : 94 Question Id : 87827029652 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



STFIFFT & ASIUET SIS ek WA i)

A, 9T
B. =m
C. =
D. =9
E. =7

AR ¥ T TR ferpeaehl @A TR, don =@erd A
(1) wrT A 21X B
2) @A B 2 C
3) W C =m D

4) W D em E
Options:
878270116813. 1
878270116814. 2
878270116815. 3
878270116816. 4

Question Number : 94 Question Id : 87827029652 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



STFIFFT & ASIUET SIS ek WA i)

A, 9T
B. =m
C. =
D. =9
E. =7

AR ¥ T TR ferpeaehl @A TR, don =@erd A
(1) wrT A 21X B
2) @A B 2 C
3) W C =m D

4) W D em E
Options:
878270116813. 1
878270116814. 2
878270116815. 3
878270116816. 4

Question Number : 95 Question Id : 87827029653 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



SEaE T T AFIMHT O 9" femg &
A.

B.

D.

E.

AR ¥ T TR ferpeaehl @A TR, don =@erd A
(1) wrT A 21X B

2) @A B 2 C

3) W C =m D

4) wA D 2w E
Options:
878270116817. 1
878270116818. 2
878270116819. 3

878270116820. 4

Question Number : 95 Question Id : 87827029653 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



SEaE T T AFIMHT O 9" femg &
A.

B.

D.

E.

AR ¥ T TR ferpeaehl @A TR, don =@erd A
(1) wrT A 21X B

2) @A B 2 C

3) W C =m D

4) wA D 2w E
Options:
878270116817. 1
878270116818. 2
878270116819. 3

878270116820. 4

Question Number : 96 Question Id : 87827029654 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



e

D. ¥MArS e

E. =

AR T UH 2TehIq fashedshl |F TEIEeh den =msrg H-
(1) =T A 2 B

2) @3 B 2am C

3) wA C =2m D

4) @3 D =m E

Options:

878270116821. 1

878270116822. 2

878270116823. 3

878270116824. 4

Question Number : 96 Question Id : 87827029654 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



e

D. ¥MArS e

E. =

AR T UH 2TehIq fashedshl |F TEIEeh den =msrg H-
(1) =T A 2 B

2) @3 B 2am C

3) wA C =2m D

4) @3 D =m E

Options:

878270116821. 1

878270116822. 2

878270116823. 3

878270116824. 4

Question Number : 97 Question Id : 87827029655 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



SAHTHA AR ITFER R T AT

A.  SToREH TIE ATEAT

B. ST W@ W =T Wield HArEReT|

C. 21 wOmd TIeh ATl

D. eTEMm=EEeER S

E. ToRSrammes &

AR ¥ T TR ferpeaehl @A TR, don =@erd A
(1) wrT A 21X B

2) @A B 2 C

3) WA C =m D

4) W D em E

Options:

878270116825. 1
878270116826. 2
878270116827. 3
878270116828. 4

Question Number : 97 Question Id : 87827029655 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



SAHTHA AR ITFER R T AT

A.  SToREH TIE ATEAT

B. ST W@ W =T Wield HArEReT|

C. 21 wOmd TIeh ATl

D. eTEMm=EEeER S

E. ToRSrammes &

AR ¥ T TR ferpeaehl @A TR, don =@erd A
(1) wrT A 21X B

2) @A B 2 C

3) WA C =m D

4) W D em E

Options:

878270116825. 1
878270116826. 2
878270116827. 3
878270116828. 4

Question Number : 98 Question Id : 87827029656 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



A R S
B. @img fem
C. T AT
D. =@
E. &R

MR T T 2T faheasl @F TEEEh den 9o 5-
(1) ™3 B 2m C
(2) ™7 B =M E
3) ™A A =m D

4) @™ C em E

Options:

878270116829. 1
878270116830. 2
878270116831. 3

878270116832. 4

Question Number : 98 Question Id : 87827029656 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



A R S
B. @img fem
C. T AT
D. =@
E. &R

MR T T 2T faheasl @F TEEEh den 9o 5-
(1) ™3 B 2m C
(2) ™7 B =M E
3) ™A A =m D

4) @™ C em E

Options:

878270116829. 1
878270116830. 2
878270116831. 3

878270116832. 4

Question Number : 99 Question Id : 87827029657 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



T TR atar € AT TR wIEsT HEn

A. TiTEr Hem

B. Thew

C. <% TswW

D. Yeenm TSW

E. fif¥ 2rsm

AR ¥ T TR ferpeaehl @A TR, don =@erd A
(1) @ A 2 C
2) @I C @ E
3) whT B =m D

4) ™9 A 2 E

Options:

878270116833. 1
878270116834. 2
878270116835. 3
878270116836. 4

Question Number : 99 Question Id : 87827029657 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



T TR atar € AT TR wIEsT HEn

A. TiTEr Hem

B. Thew

C. <% TswW

D. Yeenm TSW

E. fif¥ 2rsm

AR ¥ T TR ferpeaehl @A TR, don =@erd A
(1) @ A 2 C
2) @I C @ E
3) whT B =m D

4) ™9 A 2 E

Options:

878270116833. 1
878270116834. 2
878270116835. 3
878270116836. 4

Question Number : 100 Question Id : 87827029658 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



‘eTeT W’ YE SRR AT WIS [ UL

B. ®WSBW HiE

C. TER IE
D. =Y His
E. Tdeard 9=t

AR ¥ T TR ferpeaehl @A TR, don =@erd A
(1) wrT A 21X B
2) @I C @ E
3) whT A =m D

4) T B 2m D
Options:
878270116837. 1
878270116838. 2
878270116839. 3

878270116840. 4

Question Number : 100 Question Id : 87827029658 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



‘eTeT W’ YE SRR AT WIS [ UL

B. ®WSBW HiE

C. TER IE
D. =Y His
E. Tdeard 9=t

AR ¥ T TR ferpeaehl @A TR, don =@erd A
(1) wrT A 21X B
2) @I C @ E
3) whT A =m D

4) T B 2m D
Options:
878270116837. 1
878270116838. 2
878270116839. 3

878270116840. 4

Question Number : 101 Question Id : 87827029659 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



1963 TTM T FAMFT aUT qASEANT 2ASe 02 219 HET T
A TET W e O

B. wrwr o few enemdn i

C. aqee T e,

D. feAR w9 <o

E. oy T9E g9 ofem 9o

AR T T T, ool @F QT qen e 5
(1) ™4 A 2| B

(2) @A B @R C

3) @3 C em D

4) ™A D M E

Options:

878270116841. 1
878270116842. 2
878270116843. 3

878270116844. 4

Question Number : 101 Question Id : 87827029659 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



1963 TTM T FAMFT aUT qASEANT 2ASe 02 219 HET T
A TET W e O

B. wrwr o few enemdn i

C. aqee T e,

D. feAR w9 <o

E. oy T9E g9 ofem 9o

AR T T T, ool @F QT qen e 5
(1) ™4 A 2| B

(2) @A B @R C

3) @3 C em D

4) ™A D M E

Options:

878270116841. 1
878270116842. 2
878270116843. 3

878270116844. 4

Question Number : 102 Question Id : 87827029660 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



e SOl SR Sl AT (AR S[EH SRR A

A. @rafgar

B. =m=ifssl
G el Al
D. fruls =fm
E. chowar

AR ¥ T TR ferpeaehl @A TR, don =@erd A
(1) wrT A 21X B
2) @A B 2 C
3) W C =m D

4) W D em E
Options:
878270116845. 1
878270116846. 2
878270116847. 3

878270116848. 4

Question Number : 102 Question Id : 87827029660 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



e SOl SR Sl AT (AR S[EH SRR A

A. @rafgar

B. =m=ifssl
G el Al
D. fruls =fm
E. chowar

AR ¥ T TR ferpeaehl @A TR, don =@erd A
(1) wrT A 21X B
2) @A B 2 C
3) W C =m D

4) W D em E
Options:
878270116845. 1
878270116846. 2
878270116847. 3

878270116848. 4

Question Number : 103 Question Id : 87827029661 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



oAl SMET-TeN T LA &L SUAISE  SWehIfehd AT

A. AW =R
B. ®U& X
C. = ==l
D. Ug #rs
E. <=l HehH

AR ¥ T TR ferpeaehl @A TR, don =@erd A
(1) wrT A 21X B
2) @A B 2 C
3) WA C =m D

4) W D em E

Options:

878270116849. 1
878270116850. 2
878270116851. 3
878270116852. 4

Question Number : 103 Question Id : 87827029661 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



oAl SMET-TeN T LA &L SUAISE  SWehIfehd AT

A. AW =R
B. ®U& X
C. = ==l
D. Ug #rs
E. <=l HehH

AR ¥ T TR ferpeaehl @A TR, don =@erd A
(1) wrT A 21X B
2) @A B 2 C
3) WA C =m D

4) W D em E

Options:

878270116849. 1
878270116850. 2
878270116851. 3
878270116852. 4

Question Number : 104 Question Id : 87827029662 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



STETFT A ST qi srr

A. ST EA

B. THrs Hrem

C. =& =l

D. @A Ties

E. s fo=1

AR ¥ T TR ferpeaehl @A TR, don =@erd A
(1) wrT A 21X B

2) @A B 2 C

3) W C =m D

4) ™3 B =em D

Options:

878270116853. 1
878270116854. 2
878270116855. 3
878270116856. 4

Question Number : 104 Question Id : 87827029662 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



STETFT A ST qi srr

A. ST EA

B. THrs Hrem

C. =& =l

D. @A Ties

E. s fo=1

AR ¥ T TR ferpeaehl @A TR, don =@erd A
(1) wrT A 21X B

2) @A B 2 C

3) W C =m D

4) ™3 B =em D

Options:

878270116853. 1
878270116854. 2
878270116855. 3
878270116856. 4

Question Number : 105 Question Id : 87827029663 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



A, eEET

B. HrHal

C. entell Haer
D. =Al 9o
E. <Erd

AR ¥ T TR ferpeaehl @A TR, don =@erd A
(1) wrT A 21X B
2) @I C @ E
3) W C =m D

4) @3 D =m E

Options:

878270116857. 1
878270116858. 2
878270116859. 3
878270116860. 4

Question Number : 105 Question Id : 87827029663 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



A, eEET

B. HrHal

C. entell Haer
D. =Al 9o
E. <Erd

AR ¥ T TR ferpeaehl @A TR, don =@erd A
(1) wrT A 21X B
2) @I C @ E
3) W C =m D

4) @3 D =m E

Options:

878270116857. 1
878270116858. 2
878270116859. 3
878270116860. 4

Question Number : 106 Question Id : 87827029664 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



STTRT & T 92T A
A,  ArofeEr

B. omr =g

C. iedren
D. TedT #ren
E. TEX %e

AR ¥ T TR ferpeaehl @A TR, don =@erd A
(1) ™3 C =) D
2) @A B 2 C
3) AT A =M B

4) @3 D =m E

Options:

878270116861. 1
878270116862. 2
878270116863. 3

878270116864. 4

Question Number : 106 Question Id : 87827029664 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



STTRT & T 92T A
A,  ArofeEr

B. omr =g

C. iedren
D. TedT #ren
E. TEX %e

AR ¥ T TR ferpeaehl @A TR, don =@erd A
(1) ™3 C =) D
2) @A B 2 C
3) AT A =M B

4) @3 D =m E

Options:

878270116861. 1
878270116862. 2
878270116863. 3

878270116864. 4

Question Number : 107 Question Id : 87827029665 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



STRIFFT & W™ 1971 §A T SDAEMRR. Y oAr?
A, TTHEE qEE

B. WA HhH

C. =zm@ fim
D. 9O =T
E. emaf|

AR ¥ T TR ferpeaehl @A TR, don =@erd A
(1) wrT A 21X B
2) @A B 2 C
3) W C =m D

4) @3 D =m E

Options:

878270116865. 1
878270116866. 2
878270116867. 3
878270116868. 4

Question Number : 107 Question Id : 87827029665 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



STRIFFT & W™ 1971 §A T SDAEMRR. Y oAr?
A, TTHEE qEE

B. WA HhH

C. =zm@ fim
D. 9O =T
E. emaf|

AR ¥ T TR ferpeaehl @A TR, don =@erd A
(1) wrT A 21X B
2) @A B 2 C
3) W C =m D

4) @3 D =m E

Options:

878270116865. 1
878270116866. 2
878270116867. 3
878270116868. 4

Question Number : 108 Question Id : 87827029666 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



2RI AT WU 1982 I T BT HEX T oA
A, fr=

B. qw

D. A

E. fax o

AR ¥ T TR ferpeaehl @A TR, don =@erd A
(1) wrT A 21X B

2) @A B 2 C

3) W C =m D

4) wA D 2w E
Options:
878270116869. 1
878270116870. 2
878270116871. 3

878270116872. 4

Question Number : 108 Question Id : 87827029666 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



2RI AT WU 1982 I T BT HEX T oA
A, fr=

B. qw

D. A

E. fax o

AR ¥ T TR ferpeaehl @A TR, don =@erd A
(1) wrT A 21X B

2) @A B 2 C

3) W C =m D

4) wA D 2w E
Options:
878270116869. 1
878270116870. 2
878270116871. 3

878270116872. 4

Question Number : 109 Question Id : 87827029667 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



STETFRT AT IO 2008 I 1 S8 TR oA

A. S

B. WM

C. =rsHrd
D. =9 T@R
E. <rhse

AR ¥ T TR ferpeaehl @A TR, don =@erd A
(1) wrT A 21X B
2) @A B 2 C
3) W C =m D

4) @3 D =m E

Options:

878270116873. 1
878270116874. 2
878270116875. 3
878270116876. 4

Question Number : 109 Question Id : 87827029667 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



STETFRT AT IO 2008 I 1 S8 TR oA

A. S

B. WM

C. =rsHrd
D. =9 T@R
E. <rhse

AR ¥ T TR ferpeaehl @A TR, don =@erd A
(1) wrT A 21X B
2) @A B 2 C
3) W C =m D

4) @3 D =m E

Options:

878270116873. 1
878270116874. 2
878270116875. 3
878270116876. 4

Question Number : 110 Question Id : 87827029668 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



2 & farar queEr @ oSEer w2

A. T HUST
B. = qU=t
C. AT HuE
D. 9™ Hvar

E. TME&T HueEr

AR ¥ T TR ferpeaehl @A TR, don =@erd A
(1) wrT A 21X B

2) @A B 2 C

3) W C =m D

4) @3 D =m E

Options:

878270116877. 1
878270116878. 2
878270116879. 3
878270116880. 4

Question Number : 110 Question Id : 87827029668 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



2 & farar queEr @ oSEer w2

A. T HUST
B. = qU=t
C. AT HuE
D. 9™ Hvar

E. TME&T HueEr

AR ¥ T TR ferpeaehl @A TR, don =@erd A
(1) wrT A 21X B

2) @A B 2 C

3) W C =m D

4) @3 D =m E

Options:

878270116877. 1
878270116878. 2
878270116879. 3
878270116880. 4

Question Number : 111 Question Id : 87827029669 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



A, WS T
B. @ wW
C. <=TUH W
D. ™ W
E. =% =um

TR 1 TH T feheasl @F TREE don amer 59—
(1) ™7 A 2 B
(2) @™T B 2m C
3) ™3 C sm D

4) ™3I D 2m E
Options:
878270116881. 1
878270116882. 2
878270116883. 3

878270116884. 4

Question Number : 111 Question Id : 87827029669 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



A, WS T
B. @ wW
C. <=TUH W
D. ™ W
E. =% =um

TR 1 TH T feheasl @F TREE don amer 59—
(1) ™7 A 2 B
(2) @™T B 2m C
3) ™3 C sm D

4) ™3I D 2m E
Options:
878270116881. 1
878270116882. 2
878270116883. 3

878270116884. 4

Question Number : 112 Question Id : 87827029670 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



SFIHT & ST FHE T MR, g O
A. e =X

B. TYH =TS®

C. fafe=m Ts

D. HE® T

E. T& =M

AR ¥ T TR ferpeaehl @A TR, don =@erd A
(1) wrT A 21X B

2) @A B 2 C

3) WA C =m D

4) W D em E

Options:

878270116885. 1
878270116886. 2
878270116887. 3
878270116888. 4

Question Number : 112 Question Id : 87827029670 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



SFIHT & ST FHE T MR, g O
A. e =X

B. TYH =TS®

C. fafe=m Ts

D. HE® T

E. T& =M

AR ¥ T TR ferpeaehl @A TR, don =@erd A
(1) wrT A 21X B

2) @A B 2 C

3) WA C =m D

4) W D em E

Options:

878270116885. 1
878270116886. 2
878270116887. 3
878270116888. 4

Question Number : 113 Question Id : 87827029671 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



A, HE SRR
B. et
C. =

D. =¥ ¥ YT =H

E. =

AR ¥ T TR ferpeaehl @A TR, don =@erd A
(1) wrT A 21X B

2) @A B 2 C

3) W C =m D

4) @3 D =m E

Options:

878270116889. 1
878270116890. 2
878270116891. 3
878270116892. 4

Question Number : 113 Question Id : 87827029671 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



A, HE SRR
B. et
C. =

D. =¥ ¥ YT =H

E. =

AR ¥ T TR ferpeaehl @A TR, don =@erd A
(1) wrT A 21X B

2) @A B 2 C

3) W C =m D

4) @3 D =m E

Options:

878270116889. 1
878270116890. 2
878270116891. 3
878270116892. 4

Question Number : 114 Question Id : 87827029672 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



A, TEg @
B. #A® 9%

D. UITWAr &

E. W e

A ¥ T TR ferpeaehl @A TR, don e A
(1) wrT A 21X B

2) @A B 2 C

3) W C =m D

4) wA D 2w E
Options:
878270116893. 1
878270116894. 2
878270116895. 3

878270116896. 4

Question Number : 114 Question Id : 87827029672 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



A, TEg @
B. #A® 9%

D. UITWAr &

E. W e

A ¥ T TR ferpeaehl @A TR, don e A
(1) wrT A 21X B

2) @A B 2 C

3) W C =m D

4) wA D 2w E
Options:
878270116893. 1
878270116894. 2
878270116895. 3

878270116896. 4

Question Number : 115 Question Id : 87827029673 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



STFIFFT A FEI HIAR STHAYH  HETY

B. W@ W&

C. s
D. 2ar =m=n
E. fou

AR ¥ T TR ferpeaehl @A TR, don =@erd A
(1) wrT A 21X B
2) @A B 2 C
3) W C =m D

4) @3 D =m E

Options:

878270116897. 1
878270116898. 2
878270116899. 3
878270116900. 4

Question Number : 115 Question Id : 87827029673 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



STFIFFT A FEI HIAR STHAYH  HETY

B. W@ W&

C. s
D. 2ar =m=n
E. fou

AR ¥ T TR ferpeaehl @A TR, don =@erd A
(1) wrT A 21X B
2) @A B 2 C
3) W C =m D

4) @3 D =m E

Options:

878270116897. 1
878270116898. 2
878270116899. 3
878270116900. 4

Question Number : 116 Question Id : 87827029674 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



| e e

| e sz ol
A | FRAFSH qF S || 1994 T 3
B | Fa I 199 & 1
C |t 1] | 1980 T
D |TeEr 2o IV 1989 F@ 1

TR T T T e @F WA, q ae

(1) AV, B, C-ll, D-lI
() Adll, BV, C-l, DI
3) Adl, B-lll, C-IV, DA

(4) A, B-lI, C-lll, D-IV
Options:
878270116901. 1
878270116902. 2
878270116903. 3

878270116904. 4

Question Number : 116 Question Id : 87827029674 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



| e e

| e sz ol
A | FRAFSH qF S || 1994 T 3
B | Fa I 199 & 1
C |t 1] | 1980 T
D |TeEr 2o IV 1989 F@ 1

TR T T T e @F WA, q ae

(1) AV, B, C-ll, D-lI
() Adll, BV, C-l, DI
3) Adl, B-lll, C-IV, DA

(4) A, B-lI, C-lll, D-IV
Options:
878270116901. 1
878270116902. 2
878270116903. 3

878270116904. 4

Question Number : 117 Question Id : 87827029675 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



| e e

T | T Eulllk:E
A | PRI T, | | e, e T
B | e TR e RS
C | o Hveer T Il | WETT T
D | W ¥ V| T W

TR T T T e @F WA, q ae

(1) AV, BHIl, C-II, DA
() Adl, Blll, C-IV, DA
3) Adll, BV, C-II, DA

(4) A, B-lIl, C-ll, D-IV
Options:
878270116905. 1
878270116906. 2
878270116907. 3

878270116908. 4

Question Number : 117 Question Id : 87827029675 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



| e e

T | T Eulllk:E
A | PRI T, | | e, e T
B | e TR e RS
C | o Hveer T Il | WETT T
D | W ¥ V| T W

TR T T T e @F WA, q ae

(1) AV, BHIl, C-II, DA
() Adl, Blll, C-IV, DA
3) Adll, BV, C-II, DA

(4) A, B-lIl, C-ll, D-IV
Options:
878270116905. 1
878270116906. 2
878270116907. 3

878270116908. 4

Question Number : 118 Question Id : 87827029676 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



| e e

T | T T || fovere
A | e BEL
B | ST || ¥R g
C | e Tk R
D | wrFrETE V| foren oo

TR T T T e @F WA, q ae

(1) A, B-I, C-lll, D-IV

() AdlL BAl, C-V, D4

(3) A-ll, B-IV, C, D-Il

(4) AV, B, C-I, DIl
Options:

8782701169009. 1
878270116910. 2
878270116911. 3

878270116912. 4

Question Number : 118 Question Id : 87827029676 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



| e e

T | T T || fovere
A | e BEL
B | ST || ¥R g
C | e Tk R
D | wrFrETE V| foren oo

TR T T T e @F WA, q ae

(1) A, B-I, C-lll, D-IV

() AdlL BAl, C-V, D4

(3) A-ll, B-IV, C, D-Il

(4) AV, B, C-I, DIl
Options:

8782701169009. 1
878270116910. 2
878270116911. 3

878270116912. 4

Question Number : 119 Question Id : 87827029677 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



| e e

T | aee Tl T 1| st
A | | | wog
B | SeAfT | | T A
C | Il | T F
D |fafm fafte V| &7

TR 1 T4 T (el & WEA o @
(1) Al B-IV, C-, D-Il
(2) AdV, B-lll, C-lI, DA
(3) A, B-lI, C-lll, D-IV

(4) ANl B-l, C-IV, D-I
Options:
878270116913. 1
878270116914. 2
878270116915. 3
878270116916. 4

Question Number : 119 Question Id : 87827029677 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



| e e

T | aee Tl T 1| st
A | | | wog
B | SeAfT | | T A
C | Il | T F
D |fafm fafte V| &7

TR 1 T4 T (el & WEA o @
(1) Al B-IV, C-, D-Il
(2) AdV, B-lll, C-lI, DA
(3) A, B-lI, C-lll, D-IV

(4) ANl B-l, C-IV, D-I
Options:
878270116913. 1
878270116914. 2
878270116915. 3
878270116916. 4

Question Number : 120 Question Id : 87827029678 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



| e e

T | e T I 9w
A | || S
B | TR || | <T84
C | Il | T
D | V | = dme

TR T T T e @F WA, q ae

(1) A, B-I, C-lll, D-IV

() AdL B, CV, D-li

(3) A-ll, B-IV, C, D-Il

(4) AV, B-ll, C-ll, D
Options:

878270116917. 1
878270116918. 2
878270116919. 3
878270116920. 4

Question Number : 120 Question Id : 87827029678 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



| e e

T | e T I 9w
A | || S
B | TR || | <T84
C | Il | T
D | V | = dme

TR T T T e @F WA, q ae

(1) A, B-I, C-lll, D-IV

() AdL B, CV, D-li

(3) A-ll, B-IV, C, D-Il

(4) AV, B-ll, C-ll, D
Options:

878270116917. 1
878270116918. 2
878270116919. 3
878270116920. 4

Question Number : 121 Question Id : 87827029679 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



| e e

T | T Il & S
A | 1778 T T | | % fowE
B | 178 W 1 | | wifsa TER fwrE
C | 1818 W@ 3 | | Er fogre
D |1829 ¥ 1 \/ | Fei foee

TR T T T e @F WA, q ae
(1) Al B, CAV, DAl

() Ad, Bl C-lll, DAV

(3) AV, Bl C-lI, D
(4) Al BV, C-I, D-I
Options :

878270116921. 1
878270116922. 2
878270116923. 3

878270116924. 4

Question Number : 121 Question Id : 87827029679 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



| e e

T | T Il & S
A | 1778 T T | | % fowE
B | 178 W 1 | | wifsa TER fwrE
C | 1818 W@ 3 | | Er fogre
D |1829 ¥ 1 \/ | Fei foee

TR T T T e @F WA, q ae
(1) Al B, CAV, DAl

() Ad, Bl C-lll, DAV

(3) AV, Bl C-lI, D
(4) Al BV, C-I, D-I
Options :

878270116921. 1
878270116922. 2
878270116923. 3

878270116924. 4

Question Number : 122 Question Id : 87827029680 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



| e e

Gell T Il g
A | MR || Wl
B | e | | STrS
C | Il |
D | ™M V |

TR T T T e @F WA, q ae

(1) A, B-I, C-lll, D-IV

() AdlL BAl, C-V, D4

(3) A-ll, B-IV, C, D-Il

(4) AV, B, C-I, DIl
Options:

878270116925. 1
878270116926. 2
878270116927. 3

878270116928. 4

Question Number : 122 Question Id : 87827029680 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



| e e

Gell T Il g
A | MR || Wl
B | e | | STrS
C | Il |
D | ™M V |

TR T T T e @F WA, q ae

(1) A, B-I, C-lll, D-IV

() AdlL BAl, C-V, D4

(3) A-ll, B-IV, C, D-Il

(4) AV, B, C-I, DIl
Options:

878270116925. 1
878270116926. 2
878270116927. 3

878270116928. 4

Question Number : 123 Question Id : 87827029681 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



| e e

T | T T | wfEd e T
A | | 11970 TR
B | foma || 1977 T
C |wn fim Il | 1978
D |9 IV [ 1979 FT

TR T T T e @F WA, q ae

(1) A, B-I, C-lll, D-IV

() AdlL BAl, C-V, D4

(3) A-ll, B-IV, C, D-Il

(4) AV, B, C-I, DIl
Options:

878270116929. 1
878270116930. 2
878270116931. 3
878270116932. 4

Question Number : 123 Question Id : 87827029681 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



| e e

T | T T | wfEd e T
A | | 11970 TR
B | foma || 1977 T
C |wn fim Il | 1978
D |9 IV [ 1979 FT

TR T T T e @F WA, q ae

(1) A, B-I, C-lll, D-IV

() AdlL BAl, C-V, D4

(3) A-ll, B-IV, C, D-Il

(4) AV, B, C-I, DIl
Options:

878270116929. 1
878270116930. 2
878270116931. 3
878270116932. 4

Question Number : 124 Question Id : 87827029682 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



| e e

T | TH T Il T
A TG ||
B |y I | e
C |4 Il | %t
D | fr V | e

TR 1 T4 T (el & WEA o @
(1) Ad, B, C4V, DAl
2) Adl, B, CHIl, DAV
(3) Adll BV, C-II, Dl

(4) AV, BHIl, C-, D-Il
Options:
878270116933. 1
878270116934. 2
878270116935. 3

878270116936. 4

Question Number : 124 Question Id : 87827029682 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



| e e

T | TH T Il T
A TG ||
B |y I | e
C |4 Il | %t
D | fr V | e

TR 1 T4 T (el & WEA o @
(1) Ad, B, C4V, DAl
2) Adl, B, CHIl, DAV
(3) Adll BV, C-II, Dl

(4) AV, BHIl, C-, D-Il
Options:
878270116933. 1
878270116934. 2
878270116935. 3

878270116936. 4

Question Number : 125 Question Id : 87827029683 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



| e e

T | T aEE T | s @ T S
AT | | TR oS
B |3 | | TS s
C |« || | 9IS A TS
B |% [V | el <Tefre

TR 1 T4 T (el & WEA o @
(1) AV, B-lIl, C-Il, D
(2) Adl, B4, CAV, Dl
(3) A, B-lI, C-lll, D-IV

(4) ANl B-IV, C-I, D-I
Options:
878270116937. 1
878270116938. 2
878270116939. 3

878270116940. 4

Question Number : 125 Question Id : 87827029683 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



| e e

T | T aEE T | s @ T S
AT | | TR oS
B |3 | | TS s
C |« || | 9IS A TS
B |% [V | el <Tefre

TR 1 T4 T (el & WEA o @
(1) AV, B-lIl, C-Il, D
(2) Adl, B4, CAV, Dl
(3) A, B-lI, C-lll, D-IV

(4) ANl B-IV, C-I, D-I
Options:
878270116937. 1
878270116938. 2
878270116939. 3

878270116940. 4

Question Number : 126 Question Id : 87827029684 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



(1) A =2 B
2) B e C
3) C am D
4) D =m E
Options :

878270116941. 1
878270116942. 2
878270116943. 3

878270116944. 4

Question Number : 126 Question Id : 87827029684 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



(1) A =2 B
2) B e C
3) C am D
4) D =m E
Options :

878270116941. 1
878270116942. 2
878270116943. 3

878270116944. 4

Question Number : 127 Question Id : 87827029685 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



SR T 2GS HUR, @R AT LS FE
A. TT T9EH

B. @@ =l

C. fomr 9=

D. < T TR

E. T W e T

4) A D =am E
Options:
878270116945. 1

878270116946. 2
878270116947. 3
878270116948. 4

Question Number : 127 Question Id : 87827029685 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



SR T 2GS HUR, @R AT LS FE
A. TT T9EH

B. @@ =l

C. fomr 9=

D. < T TR

E. T W e T

4) A D =am E
Options:
878270116945. 1

878270116946. 2
878270116947. 3
878270116948. 4

Question Number : 128 Question Id : 87827029686 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



YHEE STEh SR & el ol AT

A. &1 FTRI
B. ¥&H

C. %A

D. WeTweA
E. wm

(1) A =2 B
2) B e C
3) C am D
4) A = C
Options :

878270116949. 1
878270116950. 2
878270116951. 3

878270116952. 4

Question Number : 128 Question Id : 87827029686 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



YHEE STEh SR & el ol AT

A. &1 FTRI
B. ¥&H

C. %A

D. WeTweA
E. wm

(1) A =2 B
2) B e C
3) C am D
4) A = C
Options :

878270116949. 1
878270116950. 2
878270116951. 3

878270116952. 4

Question Number : 129 Question Id : 87827029687 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



A TEQ
B AR
C. Wl
D. =
E g

Options:

878270116953.

—_—

878270116954. 2
878270116955. 3
878270116956. 4

Question Number : 129 Question Id : 87827029687 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



A TEQ
B AR
C. Wl
D. =
E g

Options:

878270116953.

—_—

878270116954. 2
878270116955. 3
878270116956. 4

Question Number : 130 Question Id : 87827029688 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



U W oo arr Qi e SWRIRT

A, SIS
B. @@ =
C Gl e

(1) A =2m B
2) B e C
3) C am D
4) D =m E
Options :

878270116957. 1
878270116958. 2
878270116959. 3

878270116960. 4

Question Number : 130 Question Id : 87827029688 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



U W oo arr Qi e SWRIRT

A, SIS
B. @@ =
C Gl e

(1) A =2m B
2) B e C
3) C am D
4) D =m E
Options :

878270116957. 1
878270116958. 2
878270116959. 3

878270116960. 4

Question Number : 131 Question Id : 87827029689 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



2006 TCAL WT-A GHE TN GFR SAHEA O MEH Gl DI ST

A
B. aT@M
C. a=IE
D. & fam
E. @ it

AR 1 T T foheash @ arsdl GEEm, qel amord A-

(1) A=mD

Options:

878270116961. 1
878270116962. 2
878270116963. 3

878270116964. 4

Question Number : 131 Question Id : 87827029689 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



2006 TCAL WT-A GHE TN GFR SAHEA O MEH Gl DI ST

A
B. aT@M
C. a=IE
D. & fam
E. @ it

AR 1 T T foheash @ arsdl GEEm, qel amord A-

(1) A=mD

Options:

878270116961. 1
878270116962. 2
878270116963. 3

878270116964. 4

Question Number : 132 Question Id : 87827029690 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



T o @ FEe o e fRE TE W A faem W e am m
Fem

A dffeR TR
B.  Eewis

C. & TRHTE
D. % T

E. % T

AR 1T ST e S A A T e -
(1) AemD
() BemC
) CamD

(4) DM E
Options:
878270116965. 1
878270116966. 2
878270116967. 3

878270116968. 4

Question Number : 132 Question Id : 87827029690 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



T o @ FEe o e fRE TE W A faem W e am m
Fem

A dffeR TR
B.  Eewis

C. & TRHTE
D. % T

E. % T

AR 1T ST e S A A T e -
(1) AemD
() BemC
) CamD

(4) DM E
Options:
878270116965. 1
878270116966. 2
878270116967. 3

878270116968. 4

Question Number : 133 Question Id : 87827029691 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



oA 9% 9 e STehTfed qaf & 1950 W 1 B Erashr’
A w{ s

B. WATa WM CMUH oM &R

C. =t faaruH
D. <wfEm ot
E. fom

AR T T 2T foeheashl @ a5a G o e 5
(1) A=r D
2) B em C
3) Cem D

4) D em E
Options:
8782701169609. 1
878270116970. 2
878270116971. 3

878270116972. 4

Question Number : 133 Question Id : 87827029691 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



oA 9% 9 e STehTfed qaf & 1950 W 1 B Erashr’
A w{ s

B. WATa WM CMUH oM &R

C. =t faaruH
D. <wfEm ot
E. fom

AR T T 2T foeheashl @ a5a G o e 5
(1) A=r D
2) B em C
3) Cem D

4) D em E
Options:
8782701169609. 1
878270116970. 2
878270116971. 3

878270116972. 4

Question Number : 134 Question Id : 87827029692 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



TEHAT MTTed WY I SACH STFIAT adr ¥[8 Hiel ql A

A SR T
B. @@ W=
C. e ¥«
D. = @
E.  d=ug 9@

MR 1 T 2T ool @ a5al GRE, Ao 9o 5-
(1) A =m B
2) B =m C
3) CemD

4) D =m E

Options:

878270116973. 1
878270116974. 2
878270116975. 3
878270116976. 4

Question Number : 134 Question Id : 87827029692 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



TEHAT MTTed WY I SACH STFIAT adr ¥[8 Hiel ql A

A SR T
B. @@ W=
C. e ¥«
D. = @
E.  d=ug 9@

MR 1 T 2T ool @ a5al GRE, Ao 9o 5-
(1) A =m B
2) B =m C
3) CemD

4) D =m E

Options:

878270116973. 1
878270116974. 2
878270116975. 3
878270116976. 4

Question Number : 135 Question Id : 87827029693 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



(1) A =2 B
2) B e C
3) C am D
4) D =m E
Options :

878270116977. 1
878270116978. 2
878270116979. 3

878270116980. 4

Question Number : 135 Question Id : 87827029693 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



(1) A =2 B
2) B e C
3) C am D
4) D =m E
Options :

878270116977. 1
878270116978. 2
878270116979. 3

878270116980. 4

Question Number : 136 Question Id : 87827029694 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



TR T A FA T S

FA () W T R T YW FA FAI FE A

F () o FA I T TEUR

A A T I TN AR I W HH e T8 aeaT A ol
T T

(1) @ () @i () sFe g

(2) @ () @) () TR T T

() # () o wen wn () @ gEE

(4) wrn () @¢ W e () g
Options:
878270116981. 1
878270116982. 2
878270116983. 3

878270116984. 4

Question Number : 136 Question Id : 87827029694 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



TR T A FA T S

FA () W T R T YW FA FAI FE A

F () o FA I T TEUR

A A T I TN AR I W HH e T8 aeaT A ol
T T

(1) @ () @i () sFe g

(2) @ () @) () TR T T

() # () o wen wn () @ gEE

(4) wrn () @¢ W e () g
Options:
878270116981. 1
878270116982. 2
878270116983. 3

878270116984. 4

Question Number : 137 Question Id : 87827029695 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



AR T A PN T ST
FA () W P (WS AW
AF () 4T T M T IR T T AW TR A

A A T I TN AR I W HH e T8 aeaT A ol
DA T

(1) @ () @i () sFe g
(2) @ () @) () TR T T
() # () o wen wn () @ gEE

(4) wrn () @¢ W e () g
Options:
878270116985. 1
878270116986. 2
878270116987. 3

878270116988. 4

Question Number : 137 Question Id : 87827029695 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



AR T A PN T ST
FA () W P (WS AW
AF () 4T T M T IR T T AW TR A

A A T I TN AR I W HH e T8 aeaT A ol
DA T

(1) @ () @i () sFe g
(2) @ () @) () TR T T
() # () o wen wn () @ gEE

(4) wrn () @¢ W e () g
Options:
878270116985. 1
878270116986. 2
878270116987. 3

878270116988. 4

Question Number : 138 Question Id : 87827029696 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



AR T A Al TH A {9 W A (Assertion A) FEW R AR F
T o (Reason R) @ ¥l

uqifes (Assertion A) FEdt T T AT o FEA T
a9 (Reason R) WM 3 FeAt 1 oAl & a0, 74

TAH T T T GFE AR T A e [ OEH FAE T 9
1

(1) (A) @~ (R) R T R (R), (A) T T TRIE FA

2) (A) em R) TR T FER (R), (A) T FAT T GREL T
() (A) T wEw (R) @ w

4) (A) T T TR (R) T

Options:

878270116989. 1
878270116990. 2
878270116991. 3

878270116992. 4

Question Number : 138 Question Id : 87827029696 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



AR T A Al TH A {9 W A (Assertion A) FEW R AR F
T o (Reason R) @ ¥l

uqifes (Assertion A) FEdt T T AT o FEA T
a9 (Reason R) WM 3 FeAt 1 oAl & a0, 74

TAH T T T GFE AR T A e [ OEH FAE T 9
1

(1) (A) @~ (R) R T R (R), (A) T T TRIE FA

2) (A) em R) TR T FER (R), (A) T FAT T GREL T
() (A) T wEw (R) @ w

4) (A) T T TR (R) T

Options:

878270116989. 1
878270116990. 2
878270116991. 3

878270116992. 4

Question Number : 139 Question Id : 87827029697 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



AR T A Al TH A {9 W A (Assertion A) FEW R AR F
T o (Reason R) @ ¥l

qIfes (Assertion A) “TRA & AW W ¥ AR A T

a9 (Reason R) 1AW & W<¥ a9 TRE TSIH. FAI

T T F T TFE TR 1 T A e T OEH A Ta a8
3

(1) (A) @ R) @R T R (R), (A) T T TR FH

2) (A) em R) TR T FER (R), (A) T FAT T GREL T

() (A) T wEw (R) @ w

(4) (A) oF WM R (R) TEA

Options:

878270116993. 1
878270116994. 2
878270116995. 3

878270116996. 4

Question Number : 139 Question Id : 87827029697 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



AR T A Al TH A {9 W A (Assertion A) FEW R AR F
T o (Reason R) @ ¥l

qIfes (Assertion A) “TRA & AW W ¥ AR A T

a9 (Reason R) 1AW & W<¥ a9 TRE TSIH. FAI

T T F T TFE TR 1 T A e T OEH A Ta a8
3

(1) (A) @ R) @R T R (R), (A) T T TR FH

2) (A) em R) TR T FER (R), (A) T FAT T GREL T

() (A) T wEw (R) @ w

(4) (A) oF WM R (R) TEA

Options:

878270116993. 1
878270116994. 2
878270116995. 3

878270116996. 4

Question Number : 140 Question Id : 87827029698 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



AR T A Al TH A (9 W A (Assertion A) T SR AR F
T o (Reason R) @ ¥l

o (Assertion A) TEEITER 1 MCHEN SR WUHT &7 F ©F AL
a9 (Reason R) <Timmeh @ Wam @ faf@

TAH T T T GFE AR T A e [ OEH FAE T 9
1

(1) (A) @~ (R) R T R (R), (A) T T TRIE FA

2) (A) em R) TR T FER (R), (A) T FAT T GREL T
() (A) T wEw (R) @ w

4) (A) T T TR (R) T

Options:

878270116997. 1
878270116998. 2
878270116999. 3

878270117000. 4

Question Number : 140 Question Id : 87827029698 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



AR T A Al TH A (9 W A (Assertion A) T SR AR F
T o (Reason R) @ ¥l

i (Assertion A) FTEHIER 1 <CRTEN SR WAWWT A W OER A
a9 (Reason R) <Timmeh @ Wam @ faf@

T T F T TFE TR 1 T A e T OEH A Ta a8
3

(1) (A) @ (R) @R A o (R), (A) T FME TRET FA

2) (A) em R) TR T FER (R), (A) T FAT T GREL T

() (A) T wEw (R) @ w

4) (A) % W wER (R) T

Options:

878270116997. 1
878270116998. 2
878270116999. 3

878270117000. 4

Sub-Section Number : 2
Sub-Section Id : 8782701273
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 87827029699 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (141 to 145)

Question Label : Comprehension



W 9 AT G9 AT FET WEEd W R T FH fEhel W T T T

FAI| AT TG A AR AR TR GO T AFA AR T Y A T
TR T, EA T SR, O G W TS [ W S A A T
ME IS A P o TR, YW, TN, AR, T W TH W 1R
W WaR BR T 99 feEe @ oewd U R 99 1 W TS ST
TERMT T o, 299 1 9% TER T FH W T TURAE 302 39 ORE
T O TEW TR A F I M @ TR R oW T WS WU 3
A 3 W o ST B G GE W TR AW S e
IO, AR W AN GER WA A, S T OATRAE O GE AR A B
TAE, F| TMRAE TR R WOl ST U OR TRG S SEER S @
A T B TEA FA TEEA AT AS W T R W@ g 9w A 3
TEFAT T T OR TN g 7 AW A9 W T TR g, St oieEE
T 't TR o W fae’ 1 g9 qF @ W U 9@ Fal T fagd
fre & e, F1 @ W T B AT W T AR AW PR W W A T
FT T W AT T R AR g AR AT A AT U GRS WA
TEFAR 30-35 T @@ TR fER REe @ a9 99 W IR ¥ W
A U WY Gl SR T ST BU9 R, To BUE R, e fE o
W e aEs 1§99 WE 9% @ oW THEF O W 99 a6 S
M| WEIAY T, ATRI 950 WO 1AM AT WEmie == R W@ &
T W AT T YT W UAY EF I U9 TEEEN Al ¥ WEm
AEA T A AGEE FA T R (WA TOE) T ¥ AR S RN A
TN TEEE GH 18 W Wie™ qfEd 1 T A9 T md T A
fSer e o A A T F

Sub questions

Question Number : 141 Question Id : 87827029700 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



HATA UUMT (A AR SEH & 9| AT

(1) e
(2) TsHE
()
(4) =HITA
Options :

878270117001. 1
878270117002. 2
878270117003. 3

878270117004. 4

Question Number : 142 Question Id : 87827029701 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
AT AW A AR fIEE T A LA T
(1) fre

(2) Teeg, S eTTSEH

3) fe. wo=i
Options :

878270117005. 1
878270117006. 2
878270117007. 3

878270117008. 4



Question Number : 143 Question Id : 87827029702 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

FEAN qEE A+ ArEmiEr 9l e oA
(1) 100 ¥oqm w4

(2) 35 HTHW A9

(3) 950 TTWr WEM

(4) 302 HTW WA

Options :

878270117009. 1
878270117010. 2
878270117011.3

878270117012. 4

Question Number : 144 Question Id : 87827029703 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T AT WIS MR S USTaTsh TS AIehEr?

(1) wdaeq
(2) Hu=r
(3) IR
(4) =w1E
Options :

878270117013. 1

878270117014. 2



878270117015. 3

878270117016. 4

Question Number : 145 Question Id : 87827029704 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

AAR % T = S[H dheEd AT

(1) =
(2) wreEd
(3) et
(4) FT
Options::

878270117017. 1
878270117018. 2
878270117019. 3

878270117020. 4

Question Id : 87827029699 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (141 to 145)

Question Label : Comprehension



W 9 AT G9 AT FET WEEd W R T FH fEhel W T T T

FAI| AT TG A AR AR TR GO T AFA AR T Y A T
TR T, EA T SR, O G W TS [ W S A A T
ME IS A P o TR, YW, TN, AR, T W TH W 1R
W WaR BR T 99 feEe @ oewd U R 99 1 W TS ST
TERMT T o, 299 1 9% TER T FH W T TURAE 302 39 ORE
T O TEW TR A F I M @ TR R oW T WS WU 3
A 3 W o ST B G GE W TR AW S e
IO, AR W AN GER WA A, S T OATRAE O GE AR A B
TAE, F| TMRAE TR R WOl ST U OR TRG S SEER S @
A T B TEA FA TEEA AT AS W T R W@ g 9w A 3
TEFAT T T OR TN g 7 AW A9 W T TR g, St oieEE
T 't TR o W fae’ 1 g9 qF @ W U 9@ Fal T fagd
fre & e, F1 @ W T B AT W T AR AW PR W W A T
FT T W AT T R AR g AR AT A AT U GRS WA
TEFAR 30-35 T @@ TR fER REe @ a9 99 W IR ¥ W
A U WY Gl SR T ST BU9 R, To BUE R, e fE o
W e aEs 1§99 WE 9% @ oW THEF O W 99 a6 S
M| WEIAY T, ATRI 950 WO 1AM AT WEmie == R W@ &
T W AT T YT W UAY EF I U9 TEEEN Al ¥ WEm
AEA T A AGEE FA T R (WA TOE) T ¥ AR S RN A
TN TEEE GH 18 W Wie™ qfEd 1 T A9 T md T A
fSer e o A A T F

Sub questions

Question Number : 141 Question Id : 87827029700 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



HATA UUMT (A AR SEH & 9| AT

(1) e
(2) TsHE
()
(4) =HITA
Options :

878270117001. 1
878270117002. 2
878270117003. 3

878270117004. 4

Question Number : 142 Question Id : 87827029701 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
AT AW A AR fIEE T A LA T
(1) fre

(2) Teeg, S eTTSEH

3) fe. wo=i
Options :

878270117005. 1
878270117006. 2
878270117007. 3

878270117008. 4



Question Number : 143 Question Id : 87827029702 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

FEAN qEE A+ ArEmiEr 9l e oA
(1) 100 ¥oqm w4

(2) 35 HTHW A9

(3) 950 TTWr WEM

(4) 302 HTW WA

Options :

878270117009. 1
878270117010. 2
878270117011.3

878270117012. 4

Question Number : 144 Question Id : 87827029703 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T AT WIS MR S USTaTsh TS AIehEr?

(1) wdaeq
(2) Hu=r
(3) IR
(4) =w1E
Options :

878270117013. 1

878270117014. 2



878270117015. 3
878270117016. 4

Question Number : 145 Question Id : 87827029704 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

AAR % T = S[H dheEd AT

(1) =
(2) wreEd
(3) et
(4) FT
Options::

878270117017. 1
878270117018. 2
878270117019. 3
878270117020. 4

Sub-Section Number : 3
Sub-Section Id : 8782701274
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Id : 87827029705 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (146 to 150)

Question Label : Comprehension



T MW S AH A FET NGEd 4 O W 9 Fhel 9w T @ b

A T B T WHE WA T 173 T T W T W feRw wee g
fa oW T 77w TEE WE U FER oW fw wm oawm wem
qa & foom 1Al e W e 1R AR T A wal e
AR-EE 1 TR FOER AW AR A FM TGS N g T
Ee R e (I e C G i € B ol G B e T
W o174 1S A TR 1 FIOE T Oem mmm o778 Wi Ofm-iew W
FATT AR O TR S A @ o A s e o g
IS A, fGF @9 T A T OWER W O e AR fE o
G O O O e . e e 1 o o s (e
1 el o e T 2 B2
I T BAT Bl TG HAE AR GG ARFA| G TOA T qe
el T, TR fR W U ARAE A AW W AW e o
R F1 PN TER T TH O T 1778 W@ TR #9000 g g fmd 7
TR A T FEEE QO T AT T WG W OAAGE AT T
FAAS q A TR AR T T G A T FOHEA A
T qEM TR W I g9 R wE T WEd e W ) e w
SR e a e

Sub questions

Question Number : 146 Question Id : 87827029706 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



TEST A 2RI a9 AR AT

(1) =F

(1) =T

(3) arE wE™

(1) wFeliveits
Options :

878270117021. 1
878270117022. 2
878270117023. 3

878270117024. 4

Question Number : 147 Question Id : 87827029707 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

qfEs o S AR T TS TACHD

(1) == =

(2) S=TA =Y

(1) werfsar ¥R

(1) o=
Options :

878270117025. 1
878270117026. 2
878270117027. 3

878270117028. 4



Question Number : 148 Question Id : 87827029708 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

.‘

(1) 1773 =1
(2) 1774 @& X
3) 1778 @& I

(4) 1779 @maA

Options :

878270117029. 1
878270117030. 2
878270117031.3

878270117032. 4

Question Number : 149 Question Id : 87827029709 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

RIS & HUMET & Al AT I & THT T T 2Tl

(1) e T
(2) <= oA
(3) =\ e
(4) FeirTvE
Options :

878270117033. 1

878270117034. 2



878270117035. 3

878270117036. 4

Question Number : 150 Question Id : 87827029710 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

2MPT T FoAFL R ATEhET?

(1) =fA-{=E T
(2) feme X

(3) =ma

(4) sg@m T
Options :

878270117037. 1
878270117038. 2
878270117039. 3

878270117040. 4

Question Id : 87827029705 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (146 to 150)

Question Label : Comprehension



T MW S AH A FET NGEd 4 O W 9 Fhel 9w T @ b

A T B T WHE WA T 173 T T W T W feRw wee g
fa oW T 77w TEE WE U FER oW fw wm oawm wem
qa & foom 1Al e W e 1R AR T A wal e
AR-EE 1 TR FOER AW AR A FM TGS N g T
Ee R e (I e C G i € B ol G B e T
W o174 1S A TR 1 FIOE T Oem mmm o778 Wi Ofm-iew W
FATT AR O TR S A @ o A s e o g
IS A, fGF @9 T A T OWER W O e AR fE o
G O O O e . e e 1 o o s (e
1 el o e T 2 B2
I T BAT Bl TG HAE AR GG ARFA| G TOA T qe
el T, TR fR W U ARAE A AW W AW e o
R F1 PN TER T TH O T 1778 W@ TR #9000 g g fmd 7
TR A T FEEE QO T AT T WG W OAAGE AT T
FAAS q A TR AR T T G A T FOHEA A
T qEM TR W I g9 R wE T WEd e W ) e w
SR e a e

Sub questions

Question Number : 146 Question Id : 87827029706 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



TEST A 2RI a9 AR AT

(1) =F

(1) =T

(3) arE wE™

(1) wFeliveits
Options :

878270117021. 1
878270117022. 2
878270117023. 3

878270117024. 4

Question Number : 147 Question Id : 87827029707 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

qfEs o S AR T TS TACHD

(1) == =

(2) S=TA =Y

(1) werfsar ¥R

(1) o=
Options :

878270117025. 1
878270117026. 2
878270117027. 3

878270117028. 4



Question Number : 148 Question Id : 87827029708 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

.‘

(1) 1773 =1
(2) 1774 @& X
3) 1778 @& I

(4) 1779 @maA

Options :

878270117029. 1
878270117030. 2
878270117031.3

878270117032. 4

Question Number : 149 Question Id : 87827029709 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

RIS & HUMET & Al AT I & THT T T 2Tl

(1) e T
(2) <= oA
(3) =\ e
(4) FeirTvE
Options :

878270117033. 1

878270117034. 2



878270117035. 3
878270117036. 4

Question Number : 150 Question Id : 87827029710 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

2MPT T FoAFL R ATEhET?

(1) =fA-{=E T
(2) feme X

(3) =ma

(4) sg@m T
Options :

878270117037. 1
878270117038. 2
878270117039. 3
878270117040. 4



